	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*		imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
1	VILLAGE BANDANWARA TO VILLAGE KEETAP ON BANDANWARA GOYLA ROAD (SH26A)	AJMER	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2	VILLAGE JHIRI, TESHIL THANAGAZI ON PRATAPGARH TO AJABGARH ROAD	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	VILLAGE MADHOGARH ON SH-52 BETWEEN KM STONE 119 TO 120	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	BETWEEN KM STONE 112-114 ON SH-25	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	VILLAGE KATUMBI TO VILLAGE CHHOTI SARWAN ON NH-927A	BANSWARA	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	VILLAGE KHAMERA ON NH-56 BANSWARA PRATAPGARH ROAD	BANSWARA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	FROM ANTA TO BARAN LHS ON NH27 WHILE MOVING FROM KOTA TO BARAN	BARAN	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	KM STONE 98 TO 102 ON NH 148D ON LHS WHILE MOVING FROM GULABPURA TO SHAHPURA	BHILWARA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	BETWEEN KM STONE NO. 15 AND 25 ON NH-62 BIKANER TO SRIGANGANAGAR ROAD	BIKANER	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	BETWEEN MAA BHARATI CHOWK(DANTORE) AND KHAJUWALA RAJEEV CIRCLE ON SH-94	BIKANER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	ON SH 09, LHS FROM GOVT HOSPITAL KAPASAN TO VILLAGE KESARKHEDI	CHITTORGAR H	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	BETWEEN SAHJOOSAR AND GINRI PATTA LOHSANA ON SH-36(CHURU-TARANAGAR ROAD)	CHURU	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	LAWAN WITHIN MUNCIPAL LIMIT (NOT ON NH OR SH)	DAUSA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
14	VILLAGE BOLADRA, TEHSIL PALDEWAL ON NH 927 A KHERWARA DUNGARPUR ROAD	DUNGARPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	BETWEEN KM STONE NO. 198 TO 200 ON NH 48 (OLD NH8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	JAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	BETWEEN KM STONE 41 TO 45, ON RHS, FROM JAIPUR TO KOTA ON NH 52 (OLD NH 12)	JAIPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	JAIPUR CITY, ON 200 FT BYPASS ROAD WITHIN JAIPUR MUNICIPAL LIMITS	JAIPUR	Regular	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
18	WITHIN 4KM FROM OLD BUS STAND SAYLA ON SH16	JALORE	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	FROM AKLERA TO MANOHAR THANA ON SH37A WITHIN TEHSIL -AKLERA	JHALAWAR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	WITHIN 10 KM FROM SH 28 CUT ON SH 65 TOWARDS PHALSUND (SHERGARH- PHALSUND ROAD)	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	FROM VILLAGE LUNI TO VILLAGE DHUNDHARA ON SH 68 (LUNI TO DHUNDHARA)	JODHPUR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
22	VILLAGE BELWA KATHRIYA TO VILLAGE SHERGARH ON SH95 (BALESAR TO SHERGARH)	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	VILLAGE KHARA TO VILLAGE KALRA ON NH11 (RAMDEVRA TO PHALODI) LHS	JODHPUR	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
24	ON NH-23 WITHIN MUNICIPAL LIMIT OF KARAULI.	KARAULI	Regular	153	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
25	ON RHS WHILE MOVING FROM GUDHACHANDRAJI TO TODABHIM ON MDR-219 WITHIN MUNICIPAL LIMIT OF TODABHIM.	KARAULI	Regular	114	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
26	BETWEEN MEEL WALE BABA TO NORTHERN BYPASS ON RANGPUR ROAD- KOTA CITY WITHIN MUNICIPAL LIMIT	кота	Regular	195	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
27	SOJAT CITY, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH/PWD ROAD)	PALI	Regular	171	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
28	BETWEEN POLICE STATION DEVGARH TO GOVT. SR. SEC. SCHOOL CHIKLAD ON SH81A	PRATAPGARH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	BETWEEN FOLICE STATION DEVOANT TO GOVT. SK. SEC. SCHOOL CHIKAD ON SH82A BETWEEN KM STONE 147 AND 148 ON SH8A	SIKAR	Regular	102	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	BETWEEN KM STONE 134 AND 136 ON SH 37	SIKAR		126	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	BETWEEN KM STONE 134 AND 130 ON 3H 37 BETWEEN KM STONE 740 & 753 EITHER SIDE ON NH 27 (WHILE MOVING FROM PINDWARA	JINAN	Regular	120	31	CF3	33	33	1223	0	0	Diaw of Lots	0	
31	TO UDAIPUR)	UDAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
32	JHADOL TO VILLAGE PHALASIYA EITHER SIDE ON NH 58E	UDAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
33	VILLAGE GAGWANA (NOT ON NH), TEHSIL AJMER	AJMER	Rural	85	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
34	VILLAGE MEHROO KALAN, TEHSIL SAWAR	AJMER	Rural	95	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
35	BETWEEN KM STONE 12 AND 16 ON MDR 4(ATRU KHANPUR ROAD)	BARAN	Rural	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
36	WITHIN 10 KMS OF RD931 CIRCLE BAJJU TOWARD RD682 ON RD682 TO BAJJU BRO ROAD	BIKANER	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
37	VILLAGE ADARSH NAGAR, PATWAR HALKA MANDHA, TEHSIL PAOTA	JAIPUR	Rural	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
38	VILLAGE BHOPATPURA TEHSIL RINGUS FROM NH52 CROSSING TO RAILWAY CROSSING	SIKAR	Rural	69	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
39	AJMER CITY, WITHIN 3KM OF RAILWAY HOSPITAL ON BEAWAR ROAD ON LHS WHILE MOVING FROM AJMER TO BEAWAR	AJMER	Regular	250	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
40	AJMER CITY, FROM AJMER BUS STAND TO RTO OFFICE ON JAIPUR ROAD	AJMER	Regular	280	OPEN	СС	20	20	400	32	12	Bidding	30	5
41	AIMER CITY, JHALKARI BAI SMARAK TO LOHAGAL ROAD INTERSECTION	AJMER	Regular	210	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
42	AJMER CITY (WITHIN MUNICIPAL LIMITS) ON ANY ROAD WITH WIDTH 80 FEET OR ABOVE	AJMER	Regular	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
43	FOYSAGAR POLICE CHOWKI TO NAUSAR GHATI ON PUSHKAR ROAD, AJMER CITY	AJMER	Regular	280	OPEN	СС	20	20	400	32	12	Bidding	30	5
44	AJMER CITY, FOYSAGAR POLICE CHOWKI TO FOYSAGAR LAKE ON FOYSAGAR ROAD	AJMER	Regular	225	OPEN	СС	20	20	400	32	12	Bidding	30	5
45	KISHANGARH CITY WML ON KHODA GANESH ROAD	AJMER	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
46	BEAWAR CITY (WML), WITHIN 2.5KM FROM RSRTC DEPOT TOWARDS AJMER ON BEAWAR AJMER ROAD ON LHS	AJMER	Regular	205	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	LAR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	1				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
47	BEAWAR CITY (WML), FROM SD COLLEGE TO NH 58 INTERSECTION ON UDAIPUR ROAD	AJMER	Regular	200	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
48	WITHIN 6KM FROM NH 58 INTERSECTION ON NH 158 ON LHS WHILE MOVING FROM BEAWAR TO ASIND	AJMER	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	KM STONE 304 TO KM STONE 308 ON NH 48 RHS WHILE MOVING FROM KISHANGARH TO		_											
49	BHILWARA KM STONE 358 TO 360 ON NH 48 (OLD NH 08) ON LHS WHILE MOVING FROM AJMER TO	AJMER	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
50	JAIPUR VILL BANDAR SEENDRI TO VILL PATAN ON NH 48 (OLD NH 08) ON LHS WHILE MOVING	AJMER	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
51	FROM JAIPUR TO AJMER	AJMER	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
52	KM STONE 279 TO 282 ON NH 48 ON RHS WHILE MOVING FROM KISHANGARH TO BHILWARA	AJMER	Regular	210	OBC	сс	35	35	1225	32	12	Bidding	30	4
53	KM STONE 303 TO KM STONE 309 ON NH 48 LHS WHILE MOVING FROM KISHANGARH TO BHILWARA	AJMER	Rogular	220	OBC	СС	35	35	1225	32	12	Bidding	30	4
	KM STONE 319 TO KM STONE 328 ON NH 48 ON RHS WHILE MOVING FROM KISHANGARH		Regular											
54	TO BHILWARA KM STONE 309 TO KM STONE 314 ON NH 48 LHS WHILE MOVING FROM KISHANGARH TO	AJMER	Regular	230	OBC	СС	35	35	1225	32	12	Bidding	30	4
55	BHILWARA	AJMER	Regular	195	OBC	СС	35	35	1225	32	12	Bidding	30	4
56	VILL RANI SAGAR TO VILL PIPLAZ ON NH 58 ON LHS WHILE MOVING FROM AIMER TO BEAWAR	AJMER	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
57	VILL KHARWA TO DAULAT KHERA ON NH 58 (OLD NH 08) ON LHS WHILE MOVING FROM BEAWAR TO AJMER	AJMER	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 2KM FROM KAYAD CHORAHA TOWARDS PUSHKAR ON NH 58 (OLD NH 89) (NEW													
58	PUSHKAR BYPASS) JAWAJA TO BAGLIYA TOLL ON NH 58 (OLD NH 08) ON LHS WHILE MOVING FROM BEAWAR	AJMER	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
59	TO BHIM VILL DAULAT KHERA TO VILL KHARWA ON NH 58 (OLD NH 08) ON LHS WHILE MOVING	AJMER	Regular	220	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
60	FROM AJMER TO BEAWAR	AJMER	Regular	255	OPEN	СС	35	35	1225	32	12	Bidding	30	5
61	VILL TILORA TO VILL DEVNAGAR ON LHS ON NH 58 (OLD NH 89) (NEW PUSHKAR BYPASS)	AJMER	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	JAWAJA TO BAGLIYA TOLL ON NH 58 (OLD NH 08) ON RHS WHILE MOVING FROM BEAWAR TO BHIM	AJMER	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	WITHIN 4KM FROM NH158 INTERSECTION TOWARDS BHIM ON NH 58 (OLD NH08) ON LHS													
63	WHILE MOVING TOWARDS BHIM	AJMER	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
64	PARBATPURA CHOUK TO RAIGARH CHORAHA ON NH58 (OLD NH08) BOTH SIDE	AJMER	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
65	WITHIN 2KM FROM KAYAD VISHRAM ESTHALI MAIN GATE TOWARDS PUSHKAR ON NH 58 (OLD NH 89)	AJMER	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
66	WITHIN 3KM FROM BAGHERA CHORAHA TOWARDS BAGHERA ON SH 116	AJMER	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
67	WITHIN 4KM FROM DEOLI CHORAHA ON SH 26 ON LHS WHILE MOVING FROM SAWAR TO DEOLI	AJMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
68	FROM KM STONE 15 TO 18 ON SH 7	AJMER	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
69	FROM KM STONE 33 TO 38 ON SH 26	AJMER	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	Minimum D		ı M)/Area of	Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
70	VILLAGE FATEHPURA, TEHSIL PEESANGAN ON SH 59	AJMER	Regular	160	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
71	WITHIN 2 KM FROM PARSURAM CIRCLE ON KEKRI SAWAR ROAD (SH 26)	AJMER	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
72	FROM KM STONE 24 TO 28 ON SH 07	AJMER	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
73	FROM KM STONE 43 TO 47 ON SH 26	AJMER	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
74	AJMER CITY, FROM SHASTRI NAGAR POLICE CHOWKI TO NEW PUSHKAR BYPASS INTERSECTION ON LOHAGAL ROAD	AJMER	Regular	210	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
75	WITHIN 5KM FROM NEW BUS STAND MASUDA ON MASUDA BEAWAR ROAD (SH26A)	AJMER	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
76	WITHIN 3KM FROM GOVINDGARH BUS STAND TOWARDS LADPURA ON SH 59	AJMER	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
77	ON SH 60, WITHIN 2KM FROM INTERSECTION WITH OLD PUSHKAR BYPASS ROAD TOWARDS AJMER	AJMER	Regular	200	OPEN	СС	30	30	900	32	12	Bidding	30	5
78	KM STONE 127 TO 132 ON SH 12	AJMER	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
79	VILL BORADA, TEHSIL SARWAR ON SH 7E	AJMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
80	INTERSECTION WITH SH 101 TO VILL KATSURA, TEHSIL ARAIN ON SH 7E	AJMER	Regular	160	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
81	VILL DHASOOK, TEHSIL ARAIN ON SH 101 (AJMER MALPURA ROAD)	AJMER	Regular	125	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
82	WITHIN 3KM FROM SH 59 INTERSECTION ON SH 102 (PEESANGAN MANGLIYAWAS ROAD)	AJMER	Regular	140	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
83	WITHIN 5KM FROM GEGAL POLICE STATION TOWARDS AJMER ON NH 448 (OLD NH 08) ON LHS	AJMER	Regular	200	ОВС	СС	35	35	1225	32	12	Bidding	30	4
84	BALWANTA TIRAHA TO NH 48 INTERSECTION ON NH 448 ON LHS WHILE MOVING FROM AIMER TO NASIRABAD	AJMER	Regular	290	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
85	VILL NARELI TO BADLIYA CHORAHA ON NH 448 (OLD NH 08) ON LHS WHILE MOVING FROM KISHANGARH TO AJMER	AJMER	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
86	MAKRANA CHORAHA TO AKASHWANI ON NH 448 (OLD NH 08) ON LHS WHILE MOVING FROM KISHANGARH TO AJMER	AJMER	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
87	KM STONE NO 375 TO 377 ON NH448 (OLD NH 08) ON LHS WHILE MOVING FROM AJMER TO JAIPUR	AJMER	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
88	KHAIRTHAL (WITHIN MUNICIPAL LIMITS)	ALWAR	Regular	120	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
89	BETWEEN NAGLI CIRCLE AND HASAN KHAN T-POINT IN ALWAR CITY (ON BEHROR ROAD)	ALWAR	Regular	120	ОВС	сс	20	20	400	32	12	Bidding	30	4
90	BETWEEN SAMOLA CHOWK (ITARANA CIRCLE) TO VIJAY SOLVEX PVT. LTD. IN ALWAR CITY	ALWAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
91	ON MAIN 80 FT ROAD IN BETWEEN SUB POST OFFICE KALA KUAN AND GOVT PRIMARY SCHOOL NICHLA SONAWA, ALWAR	ALWAR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
92	ALWAR CITY (WITHIN UIT LIMITS)	ALWAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	.AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
93	ON KHUDANPURI ROAD BETWEEN 200 FEET ROAD T-POINT AND SAFIA HOSPITAL T-POINT	ALWAR	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
94	BEHROR (WITHIN MUNICIPAL LIMITS) EXCLUDING NATIONAL HIGHWAY	ALWAR	Regular	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
95	BETWEEN POWER HOUSE AND MIA POLICE STATION IN MATSYA INDUSTRIAL AREA (ROAD NO. 2), ALWAR	ALWAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
96	WITHIN 1.5 KM FROM SDM-COURT-RENI TOWARDS JAKHRA ON MDR ROAD	ALWAR	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
97	MINIO 1:3 KM ROW SOMEOUN FACINITOWARDS JAKING ON MIDN ROAD BANSUR INDANE GAS TO PANCHAYAT SAMITI BANSUR ON LHS, BANSUR WITHIN MINICIPAL LIMITS	ALWAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
98	BETWEEN HARSORA CHOWK TO SUBHASH CHOWK ON BANSUR BYE PASS, BANSUR WITHIN MUNICIPAL LIMITS	ALWAR	Regular	120	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
99	BETWEEN KM STONE 117 TO 120 ON NH-48 (OLD NH-8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	ALWAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
100	BETWEEN KM STONE 138 TO 141 ON NH48 (OLD NH8) ON LHS WHILE MOVING FROM DELHI TO JAIPUR	ALWAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
101	WITHIN 2 KM FROM SH14 AND NH48 INTERSECTION TOWARDS JAIPUR ON NH-48 (DELHI TO JAIPUR LHS) BEHROR	ALWAR	Regular	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
102	BEHROR (WITHIN MUNICIPAL LIMITS) ON NH48 (OLD NH8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	ALWAR	Regular	150	ОВС	DC	30	30	900	32	95	Draw of Lots	15	4
103	VILLAGE MASTPUR ON SH45	ALWAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
104	VILLAGE SIRMAUR ON RAMGARH- GOVINDGARH HIGHWAY	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
105	WITHIN 4 KM OF INTERSECTION OF NE4 AND SH14 TOWARDS BAGAD KA TIRAHA ON SH-14	ALWAR	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
106	VILLAGE GOLA KA BAS ON TEHLA GOLA KA BAS ROAD,DIST ALWAR	ALWAR	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
107	BETWEEN JAISINGHPURA AND AJABGARH VIA BHEEKAMPURA (INCLUDING BOTH VILLAGES)	ALWAR	Regular	100	OPEN CC 2	СС	35	35	1225	32	12	Bidding	30	5
108	BETWEEN KM STONE NO. 146 TO 153 ON SH25	ALWAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
109	BETWEEN GYANPURA BUS STAND TO NARAYANPUR BUS STAND ON SH-52	ALWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
110	BETWEEN KM STONE 118 TO 120 IN VILLAGE CHANDOLI ON SH-14 BETWEEN KM STONE NO. 149 TO 152 ON SH-14 ON RHS WHILE MOVING FROM ALWAR TO	ALWAR	Regular	100	OBC	СС	35	35	1225	32	12	Bidding	30	4
111	BEHROR WITHIN 1.5 KM FROM SHYOPUR CHAURAHA TOWARDS HARSOLI ON LHS ON MUNDAWAR-	ALWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
112	WITHIN 1.5 KM FROM SHYOPUR CHAUKAHA TOWARDS HARSOLI ON LHS ON MUNDAWAK- HARSOLI ROAD	ALWAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
113	ON BANSUR TO NARAYANPUR ROAD IN BANSUR (WITHIN MUNICIPAL LIMITS) ON SH52 WITHIN 3 KM FROM INTERSECTION OF DELHI-MUMBAI EXPRESSWAY (NE-4) AND NH 921	ALWAR	Regular	100	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	3
114	WITHIN 3 KM FROM INTERSECTION OF DELINI-MUMBAL EAPRESSWAT (NE-4) AND NH 921 ON NH-921 TOWARDS MAHWA WITHIN 2 KM ON RIGHT HAND SIDE FROM LOHIYA KA TIBARA TOWARDS BAGAD TIRAHA	ALWAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
115	ON NH248A	ALWAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
116	BETWEEN KM STONE NO. 114 TO 117 ON NH 248A IN RAMGARH (WITHIN MUNICIPAL LIMITS)	ALWAR	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
117	FROM HANUMAN CHAURAHA TO LOHIYA KA TIBARA ON NH-248A (ALWAR BHARATPUR ROAD)	ALWAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
118	BETWEEN KM STONE NO. 92 TO 96 ON SH14	ALWAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
119	BANSWARA CITY, FROM MAHARANAPRATAP CIRCLE TO MAHI DAM MOD VIA PEEPLOD ROAD	BANSWARA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
120	MAYUR MILL LODHA TO VILLAGE TALWARA ON NH 927A BANSWARA-TALWARA- PARTAPUR ROAD	BANSWARA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
121	IN BETWEEN KM STONE NO 164 TO 159 ON NH-56 DAHOD PRATAPGARH ROAD	BANSWARA	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
122	VILLAGE UMMED GARHI ON SH-10	BANSWARA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
123	IN BETWEEN KM STONE NO 220 TO 223 ON SH-32 BANSWARA ASPUR ROAD	BANSWARA	Regular	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
124	BARAN WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH)	BARAN	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
125	ANTA WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH)	BARAN	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
126	BARAN TO BHANWARGARH ON NH27 ON LHS WHILE MOVING FROM BARAN TO SHIVPURI	BARAN	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
127	BARAN TO BHANWARGARH ON NH27 ON RHS WHILE MOVING FROM BARAN TO SHIVPURI	BARAN	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
128	FROM PALAITA TO BARAN RHS ON NH 27 WHILE MOVING FROM KOTA TO BARAN	BARAN	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
129	WITHIN 5 KM FROM INTERSECTION WITH SH1 TOWARDS SISWALI ON SISWALI TO BARAN ROAD	BARAN	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
130	FROM BARANA TO VILLAGE MUDALA BISTOI ON SH72	BARAN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
131	CHABRA WITHIN MUNICIPAL LIMIT ON SH51	BARAN	Regular	120	OPEN	СС	30	30	900	32	12	Bidding	30	5
132	FROM KM STONE 0 TO 6 ON SH19B (MANGROL TO BAMORIKALAN ROAD)	BARAN	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
133	BETWEEN KM STONE 107 TO 110 ON SH51	BARAN	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
134	FROM CHIPABAROD TO AKLERA ON NH 752 WITHIN BARAN DISTRICT	BARAN	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
135	FROM ATRU TO VILLAGE ARDANA ON NH 752 (OLD NH 90)	BARAN	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
136	VILLAGE-KAWAI ON NH 752 (OLD NH90), TEHSIL-ATRU	BARAN	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
137	FROM BARMER RAILWAY STATION TO CHOUTAN CHORAHA IN BARMER CITY (NOT ON NH/SH/PWD ROAD)	BARMER	Regular	180	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
138	WITHIN 3 KM FROM TAN SINGH CIRCLE ON GEHOON ROAD IN BARMER CITY (NOT ON NH/SH/PWD ROAD)	BARMER	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
139	WITHIN 3 KM FROM PIPLOON CHORAHA ON SIWANA PADRU ODR IN SIWANA(WITHIN MUNICIPAL LIMITS)	BARMER	Regular	185	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
140	WITHIN 2KM FROM AKASHWANI KENDRA(ON HINGLAJ NAGAR ROAD)IN BARMER CITY (NOT ON SH/NH/PWD ROAD)	BARMER	Regular	220	OPEN	СС	20	20	400	32	12	Bidding	30	5
141	BARMER CITY (WITHIN MUNICIPAL LIMIT) NOT ON SH/NH/PWD ROAD	BARMER	Regular	180	OBC	СС	20	20	400	32	12	Bidding	30	4
142	BALOTRA CITY (WITHIN MUNICIPAL LIMIT) NOT ON SH/NH/PWD ROAD	BARMER	Regular	190	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
143	BETWEEN KM STONE NO.01 TO KM NO.03 ON NH-925 LHS WHILE GOING FROM GAGRIYA TO SERWA	BARMER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
144	BETWEEN KM STONE NO.50 TO 52 ON LHS WHILE MOVING FROM SIWANA TO MOKALSAR ON NH-325	BARMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
145	BETWEEN TISINGRI CHAUHANAN TO THOB ON SH-139 (JODHPUR TO BHADKHA ROAD)	BARMER	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
146	BETWEEN KM STONE NO.1 TO KM STONE NO.3 ON R.H.S WHILE MOVING FROM SIWANA TO SAMDHARI ON SH-66	BARMER	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
147	ON SH-40 BETWEEN KM STONE NO. 72 TO 74 ON EITHER SIDE OF ROAD	BARMER	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
148	VILLAGE UNDOO, TEHSIL SHEO ON SH-65	BARMER	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
149	WITHIN 15 KM FROM BALOTRA BUS STAND ON SH-28A ON EITHER SIDE OF THE ROAD	BARMER	Regular	145	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
150	WITHIN 10 KM FROM SAMDHARI RAILWAY STATION ON SH-66 ON EITHER SIDE OF THE ROAD	BARMER	Regular	135	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
151	VILLAGE BHIYAD, TEHSIL SHIV ON SH-65	BARMER	Regular	145	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
152	WITHIN 5 KM FROM SINDHARI BUS STAND ON SH-28	BARMER	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
153	VILLAGE ADARSH CHULI, TEHSIL BARMER ON NH-68 (JAISALMER TO SANCHORE ROAD)	BARMER	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
154	BETWEEN KM STONE 100 TO 105 ON NH-925 ON EITHER SIDE OF THE ROAD	BARMER	Regular	180	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
155	BETWEEN KM STONE 65 TO 75 ON NH-25 (BARMER -JODHPUR ROAD)	BARMER	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
156	WITHIN 5 KM FROM KAUSHAL VATIKA ON BARMER -SANCHORE ROAD ON NH-68	BARMER	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
157	VILLAGE SHIV(TEHSIL SHIV) ON LHS WHILE GOING FROM BARMER JAISALMER ON NH-68	BARMER	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
158	VILLAGE DERASAR, TEHSIL BARMER ON BARMER MUNABAO ROAD (NH-25E) BETWEEN KM STONE NO. 118 TO 125 ON BOTH SIDES ON NH-25 (BARMER TO JODHPUR	BARMER	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
159	ROAD)	BARMER	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
160	BETWEEN KM STONE NO.10 TO KM STONE NO.15 ON NH-25 BARMER JODHPUR ROAD.	BARMER	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
161	BETWEEN KM STONE NO.15 TO KM STONE NO.25 ON NH-25 ON BARMER JODHPUR ROAD	BARMER	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
Sl. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
162	BETWEEN KM STONE NO. 80 TO 90 ON BOTH SIDES ON NH-25 (JODHPUR TO BARMER ROAD)	BARMER	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
163	WITHIN 10 KM FROM CHOHTAN CHAURAHA ON BARMER-GADRA ROAD NH-25E	BARMER	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
164	WITHIN 20 KM FROM PACHPADRA CIRCLE TOWARDS BARMER ON PACHPADRA-BAGUNDI ROAD ON NH NO. 25	BARMER	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
165	BRIJ INDUSTRIAL AREA RIICO IN BHARATPUR WITHIN MUNICIPAL LIMIT.	BHARATPUR	Regular	101	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
166	BHARATPUR WITHIN MUNICIPAL LIMIT (NOT ON NH AND SH)	BHARATPUR	Regular	124	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
167	NADBAI WITHIN MUNICIPAL LIMIT (NOT ON NH AND SH)	BHARATPUR	Regular	106	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
168	FROM VILLAGE KHERLI TO PATHENA ON SH22	BHARATPUR	Regular	102	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
169	BETWEEN KM STONE 435 TO KM STONE 438 ON SH01	BHARATPUR	Regular	109	ОВС	СС	35	35	1225	32	12	Bidding	30	4
170	FROM VILLAGE BHAGORI TO VILLAGE SAMRAYA ON SH-45 .	BHARATPUR	Regular	106	OPEN	СС	35	35	1225	32	12	Bidding	30	5
171	FROM VILLAGE NAGLA JARELA TO VILLAGE KHAN SURJAPUR ON NH123.	BHARATPUR	Regular	156	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
172	ON NH-21, FROM KM STONE 87 TO 91 WHILE GOING FROM AGRA TO JAIPUR ON RHS.	BHARATPUR	Regular	187	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
173	BHILWARA CITY, RHS FROM KUMBHA CIRCLE TO BHILWARA-CHITTORGARH ROAD (VEER TEJAJI CIRCLE).	BHILWARA	Regular	170	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
174	BHILWARA CITY, LHS FROM JAI HIND CIRCLE TO P&T CIRCLE.	BHILWARA	Regular	160	OPEN	СС	20	20	400	32	12	Bidding	30	5
175	BHILWARA CITY, FROM TEJ SINGH CIRCLE TO ERAS CIRCLE.	BHILWARA	Regular	170	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
176	BHILWARA CITY, LHS FROM ERAS CIRCLE TO NARAYANI MATA CIRCLE.	BHILWARA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
177	BHILWARA CITY, FROM CHITRAGUPT CIRCLE (VIA MEERA CIRCLE) TO CHITTORGARH ROAD (BLUE BRIDGE).	BHILWARA	Regular	160	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
178	BHILWARA CITY, LHS FROM SUKHADIA CIRCLE TO BHADALI KHERA CHAURAHA .	BHILWARA	Regular	170	OPEN	СС	20	20	400	32	12	Bidding	30	5
179	BHILWARA CITY, LHS FROM PANSAL CHAURAHA TO SHARDA CHAURAHA.	BHILWARA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
180	BHILWADA CITY, RHS FROM POLICE CHOKI MANDAPIA TO SUKHADIYA STADIUM ON CHITTORGARH ROAD.	BHILWARA	Regular	190	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
181	BETWEEN KM STONE 1003 TO 1008, FROM BIJOLIYA TO KOTA ON NH 27 (OLD NH 76)	BHILWARA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
182	CHAINAGE NO 78 TO 82 ON NH 158	BHILWARA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
183	ASIND WITHIN MUNICIPAL LIMITS, FROM CHAINAGE NO 71 TO 73 ON NH 158,	BHILWARA	Regular	200	ОВС	DC	30	30	900	32	95	Draw of Lots	15	4
184	WITHIN 4KM FROM SDM OFFICE BADNOR TOWARDS BEAWAR ON NH 158	BHILWARA	Regular	165	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*		imensions (In		Finance to be a	rranged by the	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
185	BETWEEN KM STONE 399 TO 401, LHS FROM AJMER TO CHITTORGARH ON NH 48 (OLD NH 79)	BHILWARA	Regular	175	OPEN	сс	35	35	1225	32	12	Bidding	30	5
186	KM STONE 352 TO 358 ON NH 48 (OLD NH 79) ON RHS WHILE MOVING FROM KISHANGARH TO BHILWARA	BHILWARA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
187	BETWEEN ALASKA RESORT TO SANGAM UNIVERSITY RHS ON NH 48 (OLD NH 79)	BHILWARA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
188	KM STONE 354 TO 359 ON NH 48 (OLD NH 79) ON LHS WHILE MOVING FROM KISHANGARH TO BHILWARA	BHILWARA	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
189	WITHIN 3KM FROM SH 61 INTERSECTION TOWARDS RAIPUR ON SH 75	BHILWARA	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
190	VILL FAKOLIYA TO VILL GYANGARH ON SH 133	BHILWARA	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
191	KM STONE 56 TO 59 ON SH 61	BHILWARA	Regular	170	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
192	WITHIN 3KM FROM RUGHNATHPURA ROAD INTERSECTION TOWARDS KARERA ON SH 133	BHILWARA	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
193	WITHIN 5 KM FROM SALAWATIYA CHAURAHA TO TILASWAN MAHADEV ROAD ON SH 114	BHILWARA	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
194	KM STONE 41 TO 46 ON SH 61	BHILWARA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
195	KM STONE 205 TO 210 ON SH 12	BHILWARA	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
196	ON SH 12, WITHIN 5KM FROM KALINJARI GATE TOWARDS BANERA	BHILWARA	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
197	VILLAGE KHAJURI, TEHSIL JAHAZPUR ON SH 134	BHILWARA	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
198	ON SH 29, FROM SHRI PARSHWANATH DIGAMBAR JAIN MANDIR GATE TO VILLAGE BANKA VILL BHOONAS TO VILL GALODIYA ON NH 758 ON LHS WHILE MOVING FROM BHILWARA	BHILWARA	Regular	140	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
199	TO RAJSAMAND	BHILWARA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
200	BETWEEN KM STONE 70 TO 72 ON NH 758, RHS FROM RAJSAMAND TO BHILWARA.	BHILWARA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
201	BETWEEN KM STONE 151 TO 154 FROM BHILWARA TO LADPURA CHAURA LHS ON NH 758	BHILWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
202	BETWEEN KM STONE 143 TO 146, RHS FROM BHILWARA TO LADPURA CHAURA ON NH 758	BHILWARA	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
203	BETWEEN KM STONE 98 TO 96, LHS FROM KOTA TO BHILWARA ON NH 758	BHILWARA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
204	BETWEEN KM STONE 90 TO 93, LHS FROM BHILWARA TO KOTA ON NH 758	BHILWARA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
205	KM STONE 111 TO 115 ON NH 148D	BHILWARA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
206	KM STONE 13 TO 17 ON NH 148D FROM SHIVBARI CHAURAHA TO ICAR NATIONAL RESEARCH CENTRE ON CAMEL ON SHIV	BHILWARA	Regular	165	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
207	BARI ROAD (BIKANER CITY)	BIKANER	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEALE	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	Minimum D		ı M)/Area of	Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
	2	3	4 Regular/Rural	S MS+HSD in Kls	SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	7 CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
208	WITHIN 5KM FROM GANGANAGAR CIRCLE TOWARD SRIGANGANAGAR ON BIKANER- SRIGANGANAGAR ROAD(BIKANER CITY)	BIKANER	Regular	230	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
	FROM SRIGANGANAGAR CHAURAHA UPTO PUGAL PHANTA ON BIKANER - JAISALMER													
209	ROAD(BIKANER CITY) WITHIN 3KMS OF MEDICAL COLLEGE CIRCLE TOWARD NAGNECHI TEMPLE ON BIKANER-	BIKANER	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
210	NAPASAR ROAD(BIKANER CITY)	BIKANER	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
211	WITHIN 5KMS OF HALDI RAM PIYAU ON SAGAR ROAD (BIKANER CITY)	BIKANER	Regular	230	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
212	FROM SHIVBARI CHAURAHA TO INTERSECTION AT BIKANER-JAIPUR ROAD ON CHALANA HOSPITAL ROAD(BIKANER CITY) FROM GOGAGATE CIRCLE TO TRAFFIC POLICE CHOWKI BHINASAHAR ON BIKANER-	BIKANER	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
213	JODHPUR ROAD (BIKANER CITY)	BIKANER	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
214	ON UDASAR ROAD FROM UDASAR TO INTERSECTION AT BIKANER-JAIPUR ROAD (BIKANER CITY) ON MAIN KARMISAR ROAD FROM KARMISAR TILL INTERSECTION AT BIKANER-JAISALMER	BIKANER	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
215	ROAD(BIKANER CITY)	BIKANER	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
216	FROM GOKUL CIRCLE UPTO BIKANER- JAISALMER ROAD INTERSECTION ON PUSHKARAN STADIUM ROAD(BIKANER CITY)	BIKANER	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
217	NOKHA WITHIN MUNICIPAL LIMITS (NOT ON NH/SH/PWD ROAD)	BIKANER	Regular	170	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
218	BETWEEN NOKHA GAON AND LITTLE FLOWER CONVENT SCHOOL NOKHA ON NH62(OLD NH 89) NOKHA-BIKANER ROAD	BIKANER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
219	BETWEEN KM STONE NO. 60 AND 72 ON NH62 BIKANER TO SRIGANGANAGAR ROAD	BIKANER	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
220	BETWEEN KM STONE NO. 0 AND 10 ON NH62(BIKANER BYEPASS) BIKANER TO SRIGANGANAGAR	BIKANER	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
221	BETWEEN KM STONE 238 AND 248 ON NH-62 BIKANER TO JODHPUR ROAD BETWEEN KM STONE NO. 210 AND 224 ON NOKHA BYEPASS (NH-62) BIKANER TO	BIKANER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
222	JODHPUR ROAD	BIKANER	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
223	WITHIN 11KMS OF DUNGARGARH GHOOMCHAKAR TOWARD BIDASAR ON SH-93(BIDASAR- KALU ROAD) WITHIN 7 KMS OF SHOBHASAR CIRCLE TOWARD BIKANER ON SH-3(BIKANER-SATASAR	BIKANER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
224	ROAD)	BIKANER	Regular	130	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
225	BETWEEN NOORSAR PHANTA AND MOTIGARH ON SH-3(BIKANER-SATASAR ROAD) BETWEEN SANKHLA PHANTA AND VILLAGE BEETHNOKH ON SH-87A ON RANJITPURA TO	BIKANER	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
226	OSIAN ROAD	BIKANER	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
227	BETWEEN VILLAGE BANA AND VILLAGE DHARMASH ON SH-93 BIDASAR-KALU ROAD	BIKANER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
228	BETWEEN BHOLASAR BUDHAN AND HADLA ON SH-136	BIKANER	Regular	110	OPEN	СС	35	35	1225	32	12	Bidding	30	5
229	BETWEEN PANCHU AND UDASAR ON SH-87A ON RANJITPURA OSIAN ROAD	BIKANER	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	BETWEEN KOLAYAT AND JHAJHU ON SH-87A ON RANJITPURA TO OSIAN ROAD	BIKANER	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	r				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
231	BETWEEN VILLAGE KOLASAR AND VILLAGE AKASAR ON SH-136	BIKANER	Regular	110	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
232	BETWEEN KM STONE 180 AND 187 ON SH-87A ON RANJITPURA TO OSIAN ROAD	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
233	BETWEEN KM STONE 4 AND 11 ON SH-87B ON JANGLU - BHAMATSAR ROAD ROAD	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
234	WITHIN 5KM OF GRAM PANCHAYAT KARYALAYA JAI SINGH DESAR MAGRA TOWARD JANGLOO ON SH-87A	BIKANER	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
235	WITHIN 8 KMS OF RD931 CIRCLE BAJJU TOWARD SANKHLA PHANTA ON SH-87A RANJITPURA TO OSIAN ROAD	BIKANER	Regular	131	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
236	WITHIN 11 KMS OF SANKHLA PHANTA TOWARD BIKANER ON NH11 (BIKANER-JAISALMER ROAD)	BIKANER	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
237	WITHIN 10 KMS OF DUNGARGARH GHOOMCHAKAR TOWARD JAIPUR ON NH-11(BIKANER- JAIPUR ROAD)	BIKANER	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
238	BETWEEN KM STONE 545 AND 552 ON NH 11 ON BIKANER JAIPUR ROAD	BIKANER	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
239	BETWEEN GODOO AND RANJEETPURA ON NH911	BIKANER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
240	BETWEEN RD682 AND SATASAR ON NH 911 (SATTASAR TO PUGAL ROAD)	BIKANER	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
241	IN BUNDI WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	BUNDI	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
242	IN KESHORAIPATAN WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	BUNDI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
243	IN KAPREN WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	BUNDI	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
244	FROM DHOLERA TO KARONDI ON NH 27 LHS TOWARDS KOTA	BUNDI	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
245	FROM KARONDI TO DHOLERA ON NH 27 LHS TOWARDS CHITTORGARH	BUNDI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
246	FROM TALABGAON TO TALERA (LHS) TOWARDS KOTA ON NH 52	BUNDI	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
247	WITHIN 15 KM FROM KISHORPURA TOLL TAX TOWARDS KOTA (RHS) ON NH-52	BUNDI	Regular	185	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	FROM DOONI TO RAJKOT ON SH 34A	BUNDI	Regular	105	OPEN	СС	35	35	1225	32	12	Bidding	30	5
249	FROM ARNETHA TO KAPREN ON SH33	BUNDI	Regular	135	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
250	FROM KHATKAR TO MAHUWA ON SH 29	BUNDI	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
251	FROM DEIKHEDA TO PAPRI ON SH 33	BUNDI	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
252	FROM MANDITYA TO KHATKAR ON SH34	BUNDI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
253	FROM LABAN TO GENTA ON SH 1	BUNDI	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTN	ENT OF REGUL	LAR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	Minimum D		ı M)/Area of	Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
254	FROM AMARTYA TO MENDI ON NH148 D	BUNDI	Regular	170	OPEN	сс	35	35	1225	32	12	Bidding	30	5
255	WITHIN 5 KM FROM SEMALPURA CHAURAHA TO CHITTORGARH ON BUNDI ROAD.	CHITTORGAR H	Regular	130	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
256	CHITTORGARH CITY WITHIN MUNICIPAL LIMIT ON ANY ROAD WITH WIDTH 100FT OR ABOVE	CHITTORGAR H	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
257	CHITTORGARH CITY WITHIN MUNICIPAL LIMIT, LHS FROM CHITTORGARH RAILWAY STATION TO OCHHARI CHAURAHA	CHITTORGAR H	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
258	FROM MEDI KHEDA RAILWAY CROSSING TO SBI BANK PUTHOLI, CHANDERIYA-BHILWARA ROAD	CHITTORGAR H	Regular	190	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
259	CHITTORGARH CITY WITHIN MUNICIPAL LIMIT ON GHATIYAWALI ROAD. NIMBAHERA WITHIN MUNICIPAL LIMIT, FROM NIMBAHERA FRUITS MANDI MAIN GATE TO	CHITTORGAR H CHITTORGAR	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
260	RAJIV GANDHI CHAURAHA	H	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
261	LHS FROM VILLAGE GANGAPUR TO KATUNDA MOD (BEGUN TEHSIL) CHITTORGARH CITY, RHS FROM KAPASAN CHOURAHA TO THE ELEGANCE RESORT MAIN	H CHITTORGAR	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
262	GATE CHITTORGARH CITY WITHIN MUNICIPAL LIMIT, WITHIN 3 KM LHS FROM GOVT. SCHOOL	H CHITTORGAR	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
263	BOJUNDA TO CHITTORGARH	H CHITTORGAR	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
264	BETWEEN KM STONE 903 TO 906, CHITTORGARH TO KOTA ON NH 27 (OLD NH 76) BETWEEN KM STONE 944 TO 950, RHS FROM CHITTORGARH TO KOTA ON NH 27 (OLD NH		Regular	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5
265	76) BETWEEN KM STONE 925 TO 929, LHS FROM CHITTORGARH TO KOTA ON NH 27 (OLD NH 76)	H CHITTORGAR H	Regular	185 175	OPEN OPEN	DC CC	35 35	35	1225 1225	32	95 12	Draw of Lots	15 30	5
267	76) BETWEEN KM STONE 216 TO 219, LHS FROM NEEMUCH TO CHITTORGARH ON NH 56 (OLD NH 79)		Regular	160	OBC	DC	35	35 35	1225	32	95	Bidding Draw of Lots	15	4
268	BETWEEN KM STONE 968 TO 975 FROM CHITTORGARH TO KOTA ON NH 27 (OLD NH 76)	CHITTORGAR H	Regular Regular	170	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
269	BETWEEN KM STONE 215 TO 218, LHS FROM CHITTORGARH TO UDAIPUR ON NH 48 (OLD NH 27)	CHITTORGAR H	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
270	BETWEEN KM STONE 227 TO 231 FROM CHITTORGARH TO UDAIPUR ON NH 48 (OLD NH 27)	CHITTORGAR H	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
271	ON NH 48 (OLD NH 79), RHS FROM VILLAGE GANGARAR TO VILLAGE SONIYANA	CHITTORGAR H	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
272	BETWEEN KM STONE 198 TO 200, CHITTORGARH TO NIMBAHERA LHS ON NH 56 (OLD NH 79)	CHITTORGAR H	Regular	195	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
273	NIMBAHERA WITHIN MUNICIPAL LIMIT ON NH 56 (OLD NH 113) FROM NIMBAHERA TO PRATAPGARH ROAD.	CHITTORGAR H	Regular	170	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
274	ON SH 9A, FROM VILLAGE BALWANTNAGAR TO PALANPUR CHAURAHA.	CHITTORGAR H	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
275	BARI SADRI WITHIN MUNICIPAL LIMIT, UPTO JARKHANA MOD ON SH 15	CHITTORGAR H CHITTORGAR	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
276	BETWEEN KM STONE 75 TO 78 ON SH 53 (SINGOLI TO RATANGARH ROAD)	Н	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
277	ON SH 9A, FROM VILLAGE BORAO TO VILLAGE DHAGADMAU KALAN	CHITTORGAR H	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
278	BETWEEN CHARBHUJA BUS STAND RAWATBHATA TO VILLAGE JALAMPURA ON SH 09A	CHITTORGAR H	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5
279	ON SH 15, FROM PANCHAYAT SAMITI BARI SADRI TO VILLAGE CHAINPURIYA	CHITTORGAR H	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
280	VILLAGE BILODA ON SH 15 (DUNGLA TO MANGALWAD ROAD)	CHITTORGAR H	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
281	BETWEEN KM STONE 47 TO 49, LHS FROM MANGALWAD TO DUNGLA ON SH 15	CHITTORGAR H	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
282	BETWEEN GOVT ITI COLLEGE KAPASAN TO SHRI SANWALIYA DHAM ASHRAM MUNGANA LHS ON SH 09	CHITTORGAR H	Regular	130	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
283	WITHIN MUNICIPAL LIMITS RAJGARH (NOT ON NH/SH/PWD ROAD)	CHURU	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
284	SARDARSHAHAR WITHIN MUNICIPAL LIMITS (NOT ON NH/SH/PWD ROAD)	CHURU	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
285	SUJANGARH WITHIN MUNICIPAL LIMITS (NOT ON NH/SH/PWD ROAD)	CHURU	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
286	CHURU WITHIN MUNICIPAL LIMITS (NOT ON NH/SH/PWD ROAD)	CHURU	Regular	195	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
287	BETWEEN KM STONE NO. 56 AND 66 ON NH58(NAGAUR-FATEHPUR ROAD)	CHURU	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
288	WITHIN 6 KMS OF ASHOK STAMBH CIRCLE (SARDARSHAHAR) TOWARD PALLU ON SH-7	CHURU	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
289	WITHIN 10KM OF SANGAM CHAURAHA ON SH-7 TOWARD SARDARSHAHAR	CHURU	Regular	140	OPEN	СС	35	35	1225	32	12	Bidding	30	5
290	BETWEEN CHHAPAR AND ABBASAR ON SH-7C (CHHAPAR TO RATANGARH ROAD)	CHURU	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
291	WITHIN 7KMS OF BIDASAR CIRCLE TOWARD SUJANGARH ON SH-20 NOKHA SUJANGARH ROAD	CHURU	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
292	BETWEEN SWARGIYA SETH KANHAIYALAL DUNGARWAL DWAR(SUJANGARH) AND SHREE RAM DWAR(SUJANGARH) ON SH-20	CHURU	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
293	WITHIN 5 KMS OF ASHOK STAMBH CIRCLE (SARDARSHAHAR) TOWARD RATANGARH ON SH-7 (RATANGARH-PALLU ROAD)	CHURU	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
294	WITHIN 10 KMS OF BIDASAR CIRCLE TOWARD SHRIDUNGARGARH ON SH-93 BIDASAR- KALU ROAD	CHURU	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
295	BETWEEN KM STONE NO. 420 AND 425 ON NH-11(RATANGARH-FATEHPUR ROAD)	CHURU	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
296	WITHIN 4KM FROM GANDHI TIRAHA TOWARDS LALSOT WITHIN DAUSA WML	DAUSA	Regular	100	OPEN	СС	30	30	900	32	12	Bidding	30	5
297	BASWA WITHIN MUNCIPAL LIMIT (NOT ON NH OR SH)	DAUSA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
298	LALSOT WITHIN MUNCIPAL LIMITS (NOT ON NH OR SH)	DAUSA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
299	DAUSA WITHIN MUNCIPAL LIMIT (NOT ON NH OR SH)	DAUSA	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
300	BANDIKUI WITHIN MUNCIPAL LIMIT (NOT ON NH OR SH)	DAUSA	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
301	MANDAWAR WITHIN MUNCIPAL LIMIT (NOT ON NH OR SH)	DAUSA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
302	FROM KM STONE NO. 185 TO 190 ON NH21 (LHS WHILE MOVING FROM AGRA TO JAIPUR)	DAUSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
303	FROM KM STONE NO. 160 TO 167 ON NH21 (RHS WHILE MOVING FROM AGRA TO JAIPUR)	DAUSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
304	FROM KM STONE NO. 119 TO 124 ON NH21 (RHS WHILE MOVING FROM AGRA TO JAIPUR)	DAUSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
305	FROM VILLAGE BILONA TO LALSOT MANDI TIRAHA ON SH24 (LALSOT - KOTA MEGAHIGHWAY)	DAUSA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
306	FROM KM STONE NO. 88 TO 92 ON SH22 (MAHWA-HINDAUN ROAD) , TEHSIL MAHWA	DAUSA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
307	FROM SIKANDRA CHAURAHA TO GULAR CHAURAHA ON SH25 (SIKANDRA - BANDIKUI ROAD)	DAUSA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
308	FROM KM STONE NO. 8 TO 13 ON NH148 (LHS WHILE MOVING FROM DAUSA TO LALSOT)	DAUSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
309	DHOLPUR WITHIN MUNICIPAL LIMITS (NOT ON NH AND SH).	DHOLPUR	Regular	108	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
310	FROM GULAB BAGH CHAURAHA TO OLD SABJI MANDI (RAILWAY STATION ROAD) ON LHSDHOLPUR WML.	DHOLPUR	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
311	SARMATHURA WITHIN MUNICIPAL LIMIT (NOT ON NH AND SH)	DHOLPUR	Regular	108	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
312	BARI WITHIN MUNICIPAL LIMIT (NOT ON NH AND SH)	DHOLPUR	Regular	102	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
313	BASERI WITHIN MUNICIPAL LIMIT .	DHOLPUR	Regular	102	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
314	SAGWARA CITY, WITH IN 3 KM FROM SDM COURT TO BHILUDA ON NH 927A	DUNGARPUR	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
315	SAGWARA CITY, IN BETWEEN GALIYAKOT MOD TO GOWARI BUS STAND ON NH 927A SAGWARA TAMTIYA ROAD	DUNGARPUR	Regular	170	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
316	VILLAGE TAMTIYA ON NH 927A DUNGARPUR SAGWARA ROAD	DUNGARPUR	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
317	VILLAGE BHILUDA ON NH-927A ON SAGWARA PARTAPUR ROAD	DUNGARPUR	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
318	BETWEEN KM STONE NO 403 TO 406 RHS ON UDAIPUR TO BICHHIWARA ROAD NH-48 (OLD NH 08)	DUNGARPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
319	IN BETWEEN KM STONE NO 25 TO 27 ON SH-54A	DUNGARPUR	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
320	BETWEEN KM STONE NO 70 TO 73 ON NAVAGON SARODA ROAD SH-91	DUNGARPUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
321	IN BETWEEN KM STONE 26 TO 29 LHS ON SH -54 WHILE MOVING FROM ASPUR TO DUNGARPUR	DUNGARPUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
322	VILLAGE VIKAS NAGAR ON SH-54	DUNGARPUR	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
323	HANUMANGARH, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	HANUMANG ARH	Regular	120	OPEN	СС	30	30	900	32	12	Bidding	30	5
324	RAWATSAR, WITHIN MUNICIPAL LIMITS (NOT ON SH/NH/PWD ROAD)	HANUMANG ARH	Regular	100	OBC	СС	20	20	400	32	12	Bidding	30	4
325	BHADRA, WITHIN MUNICIPAL LIMITS ON BHADRA-BAGLA ROAD (NOT ON SH/NH)	HANUMANG ARH	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
326	HANUMANGARH BYEPASS ROAD FROM SRIGANGANAGAR ROAD INTERSECTION TO SANGARIA ROAD INTERSECTION ON NH54	HANUMANG ARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
327	RAWATSAR TO DHANNASAR ON (SH-7)	HANUMANG ARH	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
328	PILIBANGA ON SH 94 (WITHIN MUNCIPAL LIMITS), TEHSIL PILIBANGA	HANUMANG ARH	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
329	JAIPUR CITY, OUTSIDE MUNICIPAL LIMITS ON MUHANA ROAD FROM POWER HOUSE MUHAN TO MUHANA MOD	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
330	JAIPUR CITY WITHIN MUNICIPAL LIMITS, ON ANY ROAD WITH WIDTH OF 24 M OR ABOVE	JAIPUR	Regular	390	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
331	JAIPUR CITY, ON EITHER SIDE OF TONK ROAD FROM GOPALPURA MOD TO CHOKI DHANI	JAIPUR	Regular	399	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
332	JAIPUR CITY, ON NH 248 FROM TRANSPORT NAGAR CIRCLE TO POLICE STATION KUNDA	JAIPUR	Regular	432	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
333	JAIPUR CITY, ON SLIP LANES ON EITHER SIDE OF JAIPUR RING ROAD FROM PRAHLADPURA TO GORDHANPURA	JAIPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
334	JAIPUR CITY, ON GOVIND MARG FROM TRIMURTI CIRCLE TO TRANSPORT NAGAR	JAIPUR	Regular	380	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
335	JAIPUR CITY, ON MANGYAWAS ROAD, LHS WHILE MOVING FROM JITERWAL MARKET TO MOUNT MARY SCHOOL	JAIPUR	Regular	423	ОВС	СС	20	20	400	32	12	Bidding	30	4
336	JAIPUR CITY, IN NARAYAN VIHAR ON ANY ROAD WITH WIDTH 24 M OR ABOVE	JAIPUR	Regular	440	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
337	JAIPUR CITY, ON GONER ROAD FROM THE OBEROI RAJ VILAS PALCE TO SANT SHRI ASARAMJI ASHRAM	JAIPUR	Regular	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
338	JAIPUR CITY, IN NAND VIHAR YOJANA, VAISHALI NAGAR ON 200FT BYPASS ROAD	JAIPUR	Regular	402	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
339	JAIPUR CITY, IN VISHWAKARMA INDUSTRIAL AREA ON ANY ROAD WITH WIDTH 24 M OR ABOVE	JAIPUR	Regular	362	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
340	JAIPUR CITY, IN LOHA MANDI ON ANY ROAD WITH WIDTH 24 M AND ABOVE	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
341	JAIPUR CITY, ON KHATIPURA ROAD FROM QUEENS ROAD INTERSECTION TO 200FT BYPASS INTERSECTION	JAIPUR	Regular	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
342	JAIPUR CITY, IN LUNIYAWAS, TEHSIL SANGANER ON ANY ROAD WITH WIDTH 24 M AND ABOVE	JAIPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
343	JAIPUR CITY, ON NEW SANGANER ROAD FROM SHIPRA PATH INTERSECTION TO ISKON ROAD INTERSECTION	JAIPUR	Regular	270	OPEN	СС	20	20	400	32	12	Bidding	30	5
344	JAIPUR CITY, ON LHS FROM BHARAT MATA CIRCLE TO VANDE MATARAM CIRCLE ON VANDE MATRAM MARG	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
345	JAIPUR CITY, ON GANGA MARG FROM JAGATPURA PHATAK TO GONER ROAD INTERSECTION	JAIPUR	Regular	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	ı				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
346	JAIPUR CITY, ON GONER ROAD FROM GURJAR CHOWK TO ZAMINDAR DAIRY ON RHS	JAIPUR	Regular	300	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
347	JAIPUR CITY, IN MANGYAWAS ON ANY ROAD WITH WIDTH 24 M OR ABOVE	JAIPUR	Regular	400	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
348	JAIPUR CITY, ON MAHAL ROAD FROM BALAJI MORE TIRAHA TO RAMCHANDRAPURA	JAIPUR	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
349	JAIPUR CITY, ON GOPALPURA BYPASS ROAD FROM AJMER ROAD INTERSECTION TO MANSAROVAR METRO STATION	JAIPUR	Regular	397	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
350	JAIPUR CITY, ON NH-48 FROM 200FT BYPASS AJMER ROAD CROSSING TO MAHAPURA CIRCLE ON RHS	JAIPUR	Regular	400	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
351	JAIPUR CITY, ON RHS FROM BHARAT MATA CIRCLE TO VANDE MATARAM CIRCLE ON VANDE MATARAM MARG	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
352	JAIPUR CITY, IN MANSAROVAR ON ANY ROAD WITH WIDTH 24 M OR ABOVE	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
353	JAIPUR CITY, MALVIYANAGAR ON ANY ROAD WITH WIDTH 24 M OR ABOVE JAIPUR CITY, IN SIRSI WITHIN JAIPUR MUNICPAL LIMITS ON ANY ROAD WITH WIDTH 24 M	JAIPUR	Regular	350	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
354	OR ABOVE	JAIPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
355	ANYWHERE ON QUEEN'S ROAD, VAISHALI NAGAR	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
356	JAIPUR CITY, IN PRATAP NAGAR ON ANY ROAD WITH WIDTH 24 M OR ABOVE JAIPUR CITY, ON NH-48, LHS FROM 200FT BYPASS AJMER ROAD CROSSING TO KAMLA	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
357	JAIPUR CITY, ON GANDHIPATH WEST FROM NEELAM HOSPITAL LALARPURA TO 200FT	JAIPUR	Regular	400	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
358	BYPASS UNDERPASS	JAIPUR	Regular	350	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
359	JAIPUR CITY, ON MAL GODAM ROAD, FROM KHIRNI PHATAK TO MALGODAM KANAKPURA	JAIPUR	Regular	400	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
360	JAIPUR CITY, ON NEW BENAD ROAD FROM BENAR PHATAK TO SITAWALE PHATAK ON LHS JAIPUR CITY, ON SIKAR ROAD, LHS WHILE MOVING FROM 14 NO. BYPASS TOWARDS	JAIPUR	Regular	254	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
361	PANIPECH CIRCLE	JAIPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
362	ANYWHERE IN JAGATPURA WITHIN MUNICIPAL LIMITS ON MIN 24 M WIDE ROAD	JAIPUR	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
363	SHAHPURA (WITHIN MUNICIPAL LIMITS) EXCLUDING NATIONAL HIGHWAY, EXCLUDING STATE HIGHWAY	JAIPUR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
364	KOTPUTLI (WITHIN MUNICIPAL LIMITS) EXCLUDING NATIONAL HIGHWAY, EXCLUDING STATE HIGHWAY	JAIPUR	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
365	BETWEEN CHIROTA TO AJAIRAJPURA, WITHIN BAGRU MUNICIPAL LIMIT, NOT ON SH / NOT ON NH	JAIPUR	Regular	185	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
366	FROM CHOMU RAILWAY STATION TO SUBHASH CIRCLE, CHOMU, WITHIN MUNICIPAL LIMIT, NOT ON NH / NOT ON SH	JAIPUR	Regular	165	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
367	PHULERA, WITHIN MUNICIPAL LIMITS, NOT ON NH / NOT ON SH	JAIPUR	Regular	119	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
368	CHAKSU, WITHIN MUNICIPAL LIMIT, NOT ON NH / NOT ON SH	JAIPUR	Regular	121	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	7 CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
369	CHOMU, WITHIN MUNICIPAL LIMIT, NOT ON SH / NOT ON NH	JAIPUR	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
370	ON CHAKSU LALSOT LINK ROAD, WITHIN CHAKSU MUNICIPAL LIMIT, NOT ON SH / NOT ON NH	JAIPUR	Regular	125	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
371	BETWEEN KANOTA TO BENADA MODE ON NH 21, WHILE TRAVELLING FROM JAIPUR TO AGRA, ON LHS	JAIPUR	Regular	265	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
372	BETWEEN BAGRANA TO KANOTA, ON LHS, ON NH 21, WHILE GOING FROM JAIPUR TO DAUSA	JAIPUR	Regular	265	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
373	BETWEEN KANOTA TO RAJADHOK TOLL PLAZA, ON LHS, ON NH 21, WHILE GOING FROM JAIPUR TO DAUSA	JAIPUR	Regular	230	OPEN	cc	35	35	1225	32	12	Bidding	30	5
374	BETWEEN KANOTA TO RAJADHOK TOLL PLAZA, ON RHS, ON NH 21, WHILE GOING FROM JAIPUR TO DAUSA	JAIPUR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
375	BETWEEN KM STONE 210 TO 206 ON LHS FROM JAIPUR TO DAUSA ROAD, ON NH 21, WITHIN JAIPUR DISTRICT	JAIPUR	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
376	ON NH 248 FROM KUKAS TO CHANDWAJI ON RHS WHILE TRAVELLING FROM JAIPUR TO DELHI	JAIPUR	Regular	382	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
377	ON NH 248 FROM KUKAS TO ACHROL ON LHS WHILE TRAVELLING FROM JAIPUR TO DELHI	JAIPUR	Regular	382	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
378	ON NH 248 FROM ACHROL TO CHANDWAJI ON LHS WHILE TRAVELLING FROM JAIPUR TO DELHI	JAIPUR	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
379	BETWEEN KM STONE 182 TO 184 ON NH48 (OLD NH-8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	JAIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
380	BETWEEN KM STONE 187 TO 191 ON NH48 (OLD NH8) ON LHS WHILE MOVING FROM DELHI TO JAIPUR	JAIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
381	BETWEEN KM STONE NO. 198 TO 201 ON NH 48 (OLD NH8) ON LHS WHILE MOVING FROM DELHI TO JAIPUR	JAIPUR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
382	BETWEEN KM STONE 282 TO 285, ON NH 48, ON RHS, WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
383	IN VILLAGE LAKHER TEH. AMER ON NH48 (OLD NH-8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	JAIPUR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
384	KOTPUTLI WITHIN MUNICIPAL LIMITS ON NH 48	JAIPUR	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
385	DAULATPURA TO CHANDWAJI ON NH48 (OLD NH8) ON LHS WHILE MOVING FROM JAIPUR TO DELHI	JAIPUR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
386	ON NH 48 FROM 14 NO. BYPASS TO DAULATPURA ON RHS WHILE TRAVELLING FROM 14 NO BYPASS TO DELHI	JAIPUR	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
387	ON NH 48 FROM 14 NO. BYPASS TO DAULATPURA ON LHS WHILE TRAVELLING FROM 14 NO BYPASS JAIPUR TO DELHI	JAIPUR	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
388	BETWEEN KM STONE NO. 207 TO 211 ON NH48 (OLD NH8) ON LHS WHILE MOVING FROM DELHI TO JAIPUR	JAIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
389	VILLAGE GHATWADA ON NH 48 (OLD NH-8) ON LHS WHILE MOVING FROM DELHI TO JAIPUR.	JAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
390	BETWEEN BAGRU AND MAHALA ON NH 48, ON LHS, WHILE GOING FROM JAIPUR TO AJMER WITHIN JAIPUR DISTRICT	JAIPUR	Regular	450	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
391	BETWEEN BAGRU AND MAHALA ON NH 48, ON RHS, WHILE GOING FROM JAIPUR TO AJMER WITHIN JAIPUR DISTRICT	JAIPUR	Regular	295	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	.AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	1				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
392	BETWEEN PATUDI TO PADASOLI, ON NH 48, RHS, GOING FROM JAIPUR TO AJMER WITHIN JAIPUR DISTRICT.	JAIPUR	Regular	265	OPEN	сс	35	35	1225	32	12	Bidding	30	5
393	BETWEEN KM 342 TO KM 347, ON NH 48, RHS, GOING FROM AJMER TO JAIPUR WITHIN JAIPUR DISTRICT.	JAIPUR	Regular	172	OPEN	СС	35	35	1225	32	12	Bidding	30	5
394	BETWEEN KM 342 TO KM 347, ON NH 48, LHS, GOING FROM AJMER TO JAIPUR WITHIN JAIPUR DISTRICT.	JAIPUR	Regular	265	OPEN	СС	35	35	1225	32	12	Bidding	30	5
395	BETWEEN PATUDI TO PADASOLI, ON NH 48, LHS, GOING FROM JAIPUR TO AJMER WITHIN JAIPUR DISTRICT.	JAIPUR	Regular	314	OPEN	СС	35	35	1225	32	12	Bidding	30	5
396	VILLAGE LAKHER ON NH 48 ON LHS WHILE MOVING FROM DELHI TO JAIPUR	JAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
397	BETWEEN GOBINDGARH TO BALEKHAN, ON RIGHT HAND SIDE, ON NH 52, WHILE GOING FROM JAIPUR TO SIKAR.	JAIPUR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
398	FROM UDAIPURIA MOD TO BALEKHAN MOD, ON LHS, WHILE TRAVELLING FROM JAIPUR TO SIKAR, ON NH 52	JAIPUR	Regular	266	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	BETWEEN KM STONE 33 TO 38, ON LHS, FROM JAIPUR TO KOTA ON NH 52 (OLD NH 12)	JAIPUR	Regular	230	OPEN	СС	35	35	1225	32	12	Bidding	30	5
400	BETWEEN KM STONE 47 TO 52, ON LHS, FROM JAIPUR TO KOTA ON NH 52 (OLD NH 12) BETWEEN HARMADA TO NINDER, ON LHS, WHILE GOING FROM JAIPUR TO SIKAR, ON NH	JAIPUR	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
401	52. BETWEEN TOONGA TO SONAD, ON SH 24, WHILE GOING FROM TOONGA TO LALSOT,	JAIPUR	Regular	300	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
402	WITHIN JAIPUR DISTRICT BETWEEN KM STONE 88 TO 90 ON SH 24, TRAVELLING FROM BASSI MAIN BUS STAND	JAIPUR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
403	TOWARDS TOONGA, ON LHS	JAIPUR	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
404	BETWEEN KM STONE 4 TO 8, WHILE GOING FROM SAWARDA TO NARAINA, ON SH 100 BETWEEN DUDU TO KAKRALA ON DUDU PHAGI ROAD, SH 2 ON RHS WHILE GOING FROM	JAIPUR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
405	DUDU TO KAKRALA BETWEEN KM STONE 20 TO 23, ON LHS, WHILE GOING FROM JAIPUR TO JOBNER, ON SH	JAIPUR	Regular	107	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
406	2C BETWEEN HARSOOLIYA BUS STAND TO BHOJPURA ON DIGGI MALPURA ROAD, ON SH 12,	JAIPUR	Regular	136	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
407	WITHIN JAIPUR DISTRICT BETWEEN KOTPUTLI (BEYOND MUNICIPAL LIMITS) AND PATAN ,(IN JAIPUR DISTRICT) ON	JAIPUR	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
408	BETWEEN KOTPOLIT (BETOND MUNICIPAL LIMITS) AND PATAN ,(IN JAIPUR DISTRICT) ON SH37B BETWEEN KM STONE NO. 28 TO 30 ON SH 37 IN VILLAGE KAALWANIYO KA BAS TEHSIL	JAIPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
409	BETWEEN KM STONE NO. 28 TO 30 ON SH 37 IN VILLAGE KAALWANIYO KA BAS TEHSIL SHAHPURA	JAIPUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
410	BETWEEN SHAHPURA(BEYOND MUNICIPAL LIMITS) AND AJITGARH,(IN JAIPUR DISTRICT)	JAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
411	BETWEEN KM STONE 23 TO 27 ON SH-12, WHILE GOING FROM JAIPUR TO PHAGI	JAIPUR	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
412	VILLAGE AKODA, ON SH 57, WITHIN JAIPUR DISTRICT. BETWEEN KM STONE NO. 48 TO 50, ON DIGGI MALPURA ROAD, SH 12, WITHIN JAIPUR	JAIPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
413	DISTRICT BETWEEN KM STONE 46 TO 48, ON SH 90, WHILE GOING FROM JOBNER TO NAWA, WITHIN	JAIPUR	Regular	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
414	JAIPUR DISTRICT	JAIPUR	Regular	105	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
415	FROM KM STONE 132 TO 135, ON LHS, WHILE GOING FROM DUDU TO NARAINA, SH 2	JAIPUR	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
416	BETWEEN VILLAGE DEVPURA TO RAMGATA, ON LHS, ON SH 8B, GOING FROM CHOMU TO KALADERA	JAIPUR	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
417	VILLAGE MUNDIYAGARH ON SH 19, TEHSIL KISHANGARH RENWAL	JAIPUR	Regular	164	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
418	FROM HANSRAJPURA TO KADERA ON CHAKSU PHAGI ROAD, ON SH 2, WITHIN JAIPUR DISTRICT	JAIPUR		120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
419	BETWEEN NIMLI MODE TO MAMANA ON SH 100	JAIPUR	Regular Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
420	FROM PAOTA TO KALYANPURA ROAD IN PAOTA (WITHIN MUNICIPAL LIMITS)	JAIPUR	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
421	WITHIN 6 KM FROM MANOHARPUR PULIYA TOWARDS BOBARI ON NH-148 ON L.H.S. WHILE MOVING TOWARDS DAUSA	JAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
422	FROM CANARA BANK TO TRANSPORT NAGAR CHORAHA IN JAISALMER CITY (NOT ON SH/NH/PWD ROAD)	JAISALMER	Regular	220	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
423	JAISALMER CITY (WITHIN MUNICIPAL LIMIT) NOT ON SH/NH/PWD ROAD	JAISALMER	Regular	220	OBC	СС	20	20	400	32	12	Bidding	30	4
424	VILLAGE MYAJLAR ON MUNABAO TO TANOT ROAD (NH-70)	JAISALMER	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
425	WITHIN 10 KM FROM SHREE SABAL SINGH CHORAHA (PHALSUND) ON SH-65	JAISALMER	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
426	VILLAGE MEGHRISAR , TEHSIL BHANIYANA ON SH-40	JAISALMER	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
427	VILLAGE SONU, TEHSIL SAM ON NH-68 JAISALMER TO TANOT ROAD ON EITHER SIDE OF THE ROAD	JAISALMER	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
428	BETWEEN KM STONE NO. 15 TO 20 ON NH 68	JAISALMER	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
429	VILLAGE RAMDEVRA ON NH-11 PHALODI RAMDEVRA ROAD	JAISALMER	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
430	BETWEEN KM STONE NO. 225 TO 228 ON NH-11 ON LHS WHILE MOVING FROM PHALODI TO RAMDEVRA.	JAISALMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
431	UPTO 10 KM FROM RSRTC JAISALMER OFFICE ON NH-11 JAISALMER-POKHRAN ROAD	JAISALMER	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
432	BETWEEN PAHARPURA TO SHREE MAHARANA PRATAP CIRCLE BISHANGARH ON NH-325	JALORE	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
433	BETWEEN SHREE MAHARANA PRATAP CIRCLE BISHANGARH TO NARSANA TOLL PLAZA ON NH325	JALORE	Regular	150	OBC PH	сс	35	35	1225	32	12	Bidding	30	4
434	BETWEEN KM STONE NO. 125 TO 130 ON NH325 (AHORE-TAKHATGARH HIGHWAY)	JALORE	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
435	VILLAGE DUNGARI TO VILLAGE VEDIYA ON NH925A JALORE DISTRICT ON GANDHAV TO BAKHASAR HIGHWAY	JALORE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
436	WITHIN 4 KMS OF BAGODA CHORAHA ON SH-16A OR SH-16B	JALORE	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
437	WITHIN 8KM FROM LMB CHAURAHA, BHINMAL B, ON SH-31A	JALORE	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
438	WITHIN 3 KMS OF BHADRAJUN POLICE CHOWKI TOWARDS AHORE ON SH-64	JALORE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
439	BETWEEN CHAK CHANDPAN TO DASPAN ON SH31A (KUSHLAPURA-CHAK CHANDPAN- DASPAN ROAD)	JALORE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
440	WITHIN 3 KM OF BAWATRA TIRAHA TEHSIL SAYLA ON SH16	JALORE	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
441	VILLAGE ELANA TO VILLAGE UMMEDABAD ON SH16	JALORE	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
442	BETWEEN KM STONE NO. 78 TO KM STONE NO. 81 ON SH64 FROM BHADRAJUN TO AHORE	JALORE	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
443	FROM INTERSECTION OF SH16B AND SH31A UPTO VILLAGE ROHINWARA ON SH16B	JALORE	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
444	BHINMAL CITY(WITHIN MUNICIPAL LIMITS) ON SH 31	JALORE	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
445	AKLERA - WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH), TEHSIL AKLERA	JHALAWAR	Regular	140	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
446	BHAWANI MANDI WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH)	JHALAWAR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
447	JHALARAPATAN WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH),	JHALAWAR	Regular	120	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
448	JHALAWAR WITHIN MUNICIPAL LIMIT(NOT ON NH AND SH), FROM KOTA DISTRICT BORDER TO TEENDHAR ON NH-52 ON RHS WHILE MOVING FROM	JHALAWAR	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
449	KOTA TO BHOPAL	JHALAWAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
450	FROM KOTA DISTRICT BORDER TO TEENDHAR ON NH-52 ON LHS WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
451	FROM AKLERA TO GHATOLI ON NH-52 ON LHS WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
452	FROM TEEN DHAR TO ASNAWAR ON NH-52 ON LHS WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4
453	FROM ASNAWAR TO AKLERA ON NH 52 ON LHS WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
454	ON SH37A WITHIN 3 KM FROM AMBEDKAR CIRCLE MANOHAR THANA	JHALAWAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
455	VILLAGE DUDHAULIYA ON SH19A	JHALAWAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
456	FROM SILEGARH TO PAGARIYA ON SH 19A	JHALAWAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
457	FROM BAKANI TO MP BORDER ON SH89	JHALAWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
458	ON SH-19A FROM PIPALIYA TO NH 52	JHALAWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
459	VILLAGE UNHEL ON SH 19C TEHSIL GANGDHAR	JHALAWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
460	FROM GOVERNMENT HIGHER PRIMARY SCHOOL RALAYATA TO NH 52 ON JHALAWAR BHAWANI MANDI ROAD	JHALAWAR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC, PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
461	VILLAGE KHANPUR TEHSIL KHANPUR ON SH1	JHALAWAR	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
462	JHALARAPATAN TO BEENDA ON NH 552G (OLD SH1)	JHALAWAR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
463	FROM MANOHAR THANA TO AKLERA ON SH 37A WITHIN TEHSIL -MANOHAR THANA	JHALAWAR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
464	BETWEEN SINGHANA TO KHETRI NAGAR, SINGHANA CITY, WITHIN MUNICIPAL LIMITS	JHUNJHUNU	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
465	MANDAWA CITY, WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY ROAD	JHUNJHUNU	Regular	121	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
466	JHUNJHUNU CITY, WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY ROAD	JHUNJHUNU	Regular	139	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
467	NAWALGARH CITY, WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY ROAD	JHUNJHUNU	Regular	121	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
468	BETWEEN KOTHRI LUHARWAS AND UDAIPURWATI ON SH37	JHUNJHUNU	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
469	WITHIN 5 KM FROM RAMPURA BUS STAND TOWARDS KOTHRI LUHARWAS ON SH37	JHUNJHUNU	Regular	130	OBC	СС	35	35	1225	32	12	Bidding	30	4
470	WITHIN 5 KM OF CHANWARA MOD TOWARDS CHOPHULYA ON SH82	JHUNJHUNU	Regular	118	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
471	WITHIN 5 KM OF MANDAWA MOD TOWARDS ALSISAR ON SH41	JHUNJHUNU	Regular	131	OBC	СС	35	35	1225	32	12	Bidding	30	4
472	BETWEEN KM STONE 47 & 49 ON SH08	JHUNJHUNU	Regular	102	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
473	VILLAGE BHORKI TEHSIL GUDHA GORJI ON SH82	JHUNJHUNU	Regular	116	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
474	ON NH-11 TOWARDS FATEHPUR FROM MANDAWA MOD UPTO 8 KM	JHUNJHUNU	Regular	151	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
475	BETWEEN BAGAR AND BAKHTAWARPURA ON NH-11 TOWARDS CHIRAWA	JHUNJHUNU	Regular	154	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
476	FROM BASNI FLYOVER TO PAL ROAD CUT TO CHOPASNI ROAD ON AIMS ROAD/ NAHAR ROAD, JODHPUR CITY	JODHPUR	Regular	175	OPEN	СС	20	20	400	32	12	Bidding	30	5
477	FROM EMPIRE RESORT TO UMED SAGAR BANDH (UNDER JDA) ON LHS ON JODHPUR BY PASS, JODHPUR CITY	JODHPUR	Regular	175	OPEN	сс	30	30	900	32	12	Bidding	30	5
478	FROM MANDORE CIRCLE TO SH-61 FLYOVER (JDA LIMIT ON NH62), JODHPUR CITY	JODHPUR	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
479	FROM VEER TEJAJI BRIDGE TO BANAR CIRCLE ON BANAR ROAD- (JDA LIMIT ON NH25), JODHPUR CITY	JODHPUR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
480	FROM PARSVNATH CITY GATE TO PAL POLICE CHOWKI ON PAL PASHU MELA ROAD(WITHIN JDA LIMITS)	JODHPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
481	WITHIN 15 KM FROM DPS CIRCLE ON BARMER ROAD (UNDER JDA ON NH25), JODHPUR CITY	JODHPUR	Regular	160	OPEN	сс	30	30	900	32	12	Bidding	30	5
482	FROM ASHIYANA AMARBAGH COLONY TO SHATAPDI CIRCLE LHS ON NH62, JODHPUR CITY	JODHPUR	Regular	200	OPEN	сс	30	30	900	32	12	Bidding	30	5
483	FROM AKHLIYA CIRCLE TO JODHPUR BYPASS CUT ON CHOPASNI ROAD ON EITHER SIDE, JODHPUR CITY	JODHPUR	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
484	FROM VEER TEJAJI BRIDGE TO RAM SAGAR SQUARE ON MATA KA THAN ROAD, JODHPUR CITY	JODHPUR	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
485	WITHIN 3 KM ON EITHER SIDE OF SALAWAS CHAURAHA (JODHPUR BYPASS INTERSECTION) ON SALAWAS ROAD	JODHPUR	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
486	FROM NH-62 CUT TO JODHPUR BY-PASS ON CENTRAL ACADEMY SCHOOL ROAD, JODHPUR CITY	JODHPUR	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
487	FROM JHALAMAND CIRCLE TO JODHPUR BYPASS CUT ON GUDA ROAD, JODHPUR CITY	JODHPUR	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
488	FROM PALI ROAD CUT TO NATIONAL HANDLOOM ON SARASWATI NAGAR MAIN ROAD, JODHPUR CITY	JODHPUR	Regular	175	OPEN	СС	20	20	400	32	12	Bidding	30	5
489	SALAWAS CHAURAHA TO DALI BAI CIRCLE ON JODHPUR BY PASS ON RHS,JODHPUR CITY	JODHPUR	Regular	195	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
490	MATA KA THAN TO NH-62 CUT ON SURPURA BY PASS ,JODHPUR CITY	JODHPUR	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
491	PHALODI WITHIN MUNICIPAL LIMITS (NOT ON SH,NH & PWD ROAD)	JODHPUR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
492	PIPAR CITY WITHIN MUNICIPAL LIMITS (NOT ON SH/NH)	JODHPUR	Regular	125	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
493	BORUNDA WITHIN MUNICIPAL LIMITS (NOT ON SH/NH)	JODHPUR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
494	FROM ASHIYANA AMARBAGH TO SALAWAS FLYOVER ON NH-62 LHS	JODHPUR	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
495	FROM VILLAGE DAIJAR TO VILLAGE VINAYAKPURA ON NH62 JODHPUR TO BIKANER ON LHS	JODHPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
496	FROM VILLAGE NETRA TO VILLAGE KHEDAPA ON NH62 JODPUR TO BIKANER ON EITHER SIDE	JODHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
497	FROM VILLAGE KAJNAU KALAN TO VILLAGE DODIYAL ON NH62 JODHPUR TO BIKANER ON LHS	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
498	FROM VILLAGE KANKANI TO NIMBA TOLL PLAZA ON NH62 RHS (JODHPUR TO PALI)	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
499	FROM VILLAGE BIRAI TO VILLAGE CHAUTHPURA ON SH 95 TINWARI TO SHERGARH ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
500	FROM VILLAGE KHANGTA TO VILLAGE TALANPUR ON SH86B	JODHPUR	Regular	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
501	FROM VILLAGE BANAR TO VILLAGE THABURKA ON SH 63 (JODHPUR- BHOPALGARH ROAD)	JODHPUR	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
502	FROM KM STONE 18 TO 23 ON SH 95 JODHPUR TO TINWARI ROAD	JODHPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
503	FROM VILLAGE BAGORIYA TO VILLAGE HINGOLI ON SH 63	JODHPUR	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
504	VILLAGE GODELAI TO VILLAGE LORTA HARIDASOTA, ON SH 61B FROM TINWARI TO CHAMU	JODHPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
505	VILLAGE BASNI SAINDWA TO DIYAWARI ON SH 63 JODHPUR TO ASOP	JODHPUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
506	FROM PHALODI TO VILLAGE LORDIYAN ON SH 61 PHALODI TO LOHAWAT	JODHPUR	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
507	FROM KM STONE TO 58 TO KM STONE 64 ON SH 61 PHALODI TO OSIYAN	JODHPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
508	FROM VILLAGE BILARA TO VILLAGE BARNA ON SH 62	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
509	VILLAGE MANDALIYA TO VILLAGE BORUNDA ON SH 61 PIPAR TO BORUNDA	JODHPUR	Regular	100	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
510	FROM KM STONE 7 TO 12 ON SH68 , DANGIAWAS TO KAKELAO	JODHPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
511	VILLAGE RAMPUR BHATIYAN TO VILLAGE KHUDIYALA ON SH 61 RHS	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
512	VILLAGE KUR TO VILLAGE SALWA KALAN ON SH 58	JODHPUR	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
513	FROM KM STONE 23 TO 28 ON SH58 JODHPUR- SOJAT ROAD	JODHPUR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
514	FROM VILLAGE AAU TO VILLAGE CHADI ON SH19 PHALODI TO NAGAUR ROAD FROM GORA HOTEL TO SHIKARGARDH POLICE CHOWKI ON SARDAR SAMAND ROAD (SH-	JODHPUR	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5
515	61)	JODHPUR	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
516	AIKA BHATIA FLYOVER TO VILLAGE HINDAL GOL ON NH11	JODHPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
517	VILLAGE BAP TO VILLAGE KANJI KI SIRD ON NH-11 PHALODI TO BIKANER	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
518	FROM VILLAGE KERU TO VILLAGE BAMBOR DARJIYA ON NH-125 (JODHPUR TO JAISALMER) LHS	JODHPUR	Regular	175	ОВС	СС	35	35	1225	32	12	Bidding	30	4
519	FROM VILLAGE KHARI BERI TO VILLAGE KUI JODHA ON NH-125 (JODHPUR TO JAISALMER)	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
520	FROM VILLAGE GUMANPURA TO VILLAGE MANDLA KALAN NH-125 (JODHPUR TO JAISALMER)	JODHPUR	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
521	FROM KHIYASARIYA TO VILLAGE DECHU ON NH-125 (JODHPUR TO JAISALMER)	JODHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
522	FROM VILLAGE LUNAWAS TO VILLAGE NARNADI NH 25 BARMER TO JODHPUR	JODHPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	FROM BILARA TO VILLAGE KHARIA MITHAPUR ON NH-25	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
524	DANGIAWAS CUT TO UCHIYARDA CROSSING LHS ON NH-25 JODHPUR BYPASS	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
525	FROM VILLAGE DANGIAWAS TO VILLAGE BINAWAS ON NH-25 JODHPUR TO BAR ON LHS	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
526	FROM VILLAGE PICHIYAK TO VILLAGE BHAWI LHS BAR TO JODHPUR ON NH-25	JODHPUR	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
527	FROM VILLAGE DHAWA TO VILLAGE GELAWAS ON NH-25 (BARMER TO JODHPUR)	JODHPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
528	FROM VILLAGE VISHNU KI DHANI TO VILLAGE RAMNAGAR ON NH 25 LHS	JODHPUR	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
529	BANAR CIRCLE/SQUARE TO JODHPUR BYPASS CUT RHS ON NH-25	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
530	UCHIYARDA ROAD CROSSING TO GORA HOTEL SQUARE ON JODHPUR BYPASS ON EITHER SIDE	JODHPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
531	GORA HOTEL SQUARE TO SHATABDI CIRCLE ON JODHPUR BY PASS ON EITHER SIDE	JODHPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
532	KM STONE 0 TO 10 ON NH-911 FROM BAP TO BIKAMPUR	JODHPUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
533	KALIBERI CHOWRAHA TO JODHPUR BY PASS ON NH 125	JODHPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
534	ON SH-122 FROM VILLAGE EKAT TO VILLAGE PARDAMPURA.	KARAULI	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
535	FROM STONE NO. 24 TO 26 ON SH-22 (KARAULI-MANDRYAL MAIN ROAD).	KARAULI	Regular	146	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
536	BETWEEN KM STONE 378 TO KM STONE 382 ON SH01	KARAULI	Regular	106	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
537	FROM VILLAGE CHANDANGAON TO VILLAGE KHEDLA ON NANDOTI ROAD,SH-110.	KARAULI	Regular	118	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
538	WITHIN 4 KM TOWARDS MANDRAYAL ON SH-22 FROM RAJASTHAN - M.P BORDER.	KARAULI	Regular	110	OPEN	СС	35	35	1225	32	12	Bidding	30	5
539	FROM ANANTPURA POLICE STATION TO UNIVERSITY OF KOTA (ON MBS ROAD)-KOTA CITY WITHIN MUNICIPAL LIMIT FROM HADOTI COLONY TO DHARAMPURA (ON DHARAMPURA ROAD)-KOTA CITY WITHIN	КОТА	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
540	MUNICIPAL LIMIT	КОТА	Regular	155	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
541	WITHIN RIICO INDUSTRIAL AREA, KOTA CITY	КОТА	Regular	375	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
542	BETWEEN RAIPURA CHORAYA TO BORKHEDA (ON DEOLI ARAB ROAD)-KOTA CITY WITHIN MUNICIPAL LIMIT	КОТА	Regular	230	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
543	BETWEEN MAA TRIKOTA TEMPLE TO BARAGAON POLICE CHOWKI - KOTA CITY WITHIN MUNICIPAL LIMIT	КОТА	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
544	FROM BORKHEDA TO MANDAL RAILWAY HOSPITAL (ON CANAL ROAD)-KOTA CITY WITHIN MUNICIPAL LIMIT	КОТА	Regular	225	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
545	FROM KHARI BAWADI PULIYA TO ARIHANT PUBLIC SCHOOL ON CHANDRASEL ROAD-KOTA WITHIN MUNICIPAL LIMIT	КОТА	Regular	180	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
546	IN NANTA AREA -KOTA CITY WITHIN MUNICIPAL LIMIT	KOTA	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
547	BETWEEN RAIPURA CHORAYA TO KOTA CLUB-KOTA CITY WITHIN MUNICIPAL LIMIT	KOTA	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
548	BETWEEN RAIPURA CHORAYA TO RADHIKA RESORT-KOTA CITY WITHIN MUNICIPAL LIMIT	KOTA	Regular	270	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
549	IN RANPUR, TEHSIL- LADPURA- KOTA WML	КОТА	Regular	195	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
550	FROM GAWANDI TO BRIJESHPURA (ON NORTHERN BYPASS ROAD)-KOTA WML	KOTA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
551	IN KOTA WITHIN MUNICIPAL LIMIT-1	KOTA	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
552	IN RAMGANJ MANDI CITY WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	KOTA	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	r				
Sl. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
553	WITHIN 6 KM FROM TOLL TAX BEER MANDI (NEAR SUKET) TOWARDS KALMANDI KALAN (LHS) ON NH52	кота	Regular	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5
554	FROM KOTA TO JHALAWAR (RHS) BETWEEN KM. STONE NO: 305 TO 308 ON NH-52	кота	Regular	170	OBC PH	СС	35	35	1225	32	12	Bidding	30	4
555	WITHIN 3 KMS FROM VENDANT COLLEGE OF ENGG.&TECH. MAIN GATE (LHS) TOWARDS BUNDI CITY ON NH-52	кота	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
556	FROM MORAK TO RAMGANJ MANDI ON SH9A	КОТА	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
557	FROM BORABAS TO DAULATGANJ ON SH 33	КОТА	Regular	120	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
558	FROM ZALIMPURA TO DHANWA ON SH70	KOTA	Regular	129	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
559	FROM MORAK TO CHECHAT ON SH 9A	КОТА	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
560	IN SANGOD ON SH51	KOTA	Regular	119	OBC	СС	35	35	1225	32	12	Bidding	30	4
561	FROM ITAWA TO JORAWARPURA ON SH 70	KOTA	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
562	WITHIN 1KM OF KHINWSAR FORT ON KHINWSAR FORT TO ROOP RAJAT CHAURAHA ROAD, KHINWSAR TOWN	NAGAUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
563	MERTA WITHIN MUNICIPAL LIMITS (NOT ON NATIONAL HIGHWAY)	NAGAUR	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
564	DIDWANA WITHIN MUNICIPAL LIMITS	NAGAUR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
565	MAKRANA WITHIN MUNICIPAL LIMITS	NAGAUR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
566	KUCHAMAN WITHIN MUNICIPAL LIMITS (NOT ON STATE HIGHWAY SH-07)	NAGAUR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
567	NAWA WITHIN MUNICIPAL LIMITS	NAGAUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
568	FROM POLICE THANA KOTWALI NAGAUR TO MEGHMOUNT HOTEL (NAGAUR WITHIN MUNICIPAL LIMITS)	NAGAUR	Regular	120	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
569	BASNI PULIYA TO BASNI CHAURAHA- NAGAUR WITHIN MUNICIPAL LIMITS	NAGAUR	Regular	120	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
570	GOVT BANGUR HOSPITAL TO DIDWANA RAILWAY STATION ON STATION ROAD	NAGAUR	Regular	100	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
571	BETWEEN SURPALIYA AND KANOTA ON NH58 (NAGAUR TO LADNU ROAD)	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
572	WITHIN 3KM OF HARIMA TOLL PLAZA ON LHS ON NH 58 TOWARDS LADNU	NAGAUR	Regular	275	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
573	WITHIN 5KM OF TEHLA ON NH 58 (OLD NH 89)TOWARDS AJMER	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
574	WITHIN 4KM OF DEH ON LHS ON NH 58 TOWARDS NAGAUR	NAGAUR	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
575	BETWEEN KM STONE 45 AND 50 ON RHS ON NH58 (OLD NH 89) TOWARDS NAGAUR	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In site (in sq.mt			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
576	BETWEEN KUCHERA AND BUTATI ON LHS ON NH58 (OLD NH 89) TOWARDS AJMER	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
577	BETWEEN KM STONE 51 AND 54 ON NH58 (OLD NH 89)	NAGAUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
578	BETWEEN NAYAGAON AND SHRI BALAJI ON NEW NH-62 (OLD NH 89) (NAGAUR- BIKANER ROAD)	NAGAUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
579	BETWEEN KM STONE ON 77 AND 80 ON SH60 (JAYAL TO DIDWANA ROAD)	NAGAUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
580	BETWEEN KM STONE 33 AND 35 ON SH-07 ON RHS TOWARDS PARBATSAR	NAGAUR	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
581	BETWEEN KM STONE 57 AND 59 ON SH2B	NAGAUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
582	IGC PARBATSAR (RIICO) ON PARBATSAR - BIDIYAD ROAD	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
583	BETWEEN KM STONE 301 AND 304 ON SH39	NAGAUR	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
584	BETWEEN KM STONE 302 TO 304 ON SH 19 (KUCHAMAN TO SURERA ROAD)	NAGAUR	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
585	WITHIN 2 KM OF BORAWAR BUS STAND ON SH02B	NAGAUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
586	BETWEEN KM STONE 274 AND 277 ON SH39 (KHAJWANA TO MERTA ROAD)	NAGAUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
587	WITHIN 1KM OF BUDSU CHAURAHA ON SH-7	NAGAUR	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
588	VILLAGE SINGAR ON SH19 (GOGELAW TO SUKHWASI ROAD)	NAGAUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
589	VILLAGE LADPURA ON SH-59 (TEHLA TO GOVINDGARH ROAD)	NAGAUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
590	WITHIN 2KM OF RANASAR ON DIDWANA- KUCHAMAN STATE HIGHWAY	NAGAUR	Regular	105	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
591	BETWEEN KM STONE NO 30 AND 32 ON SH-113	NAGAUR	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
592	BETWEEN KM STONE 54 AND 56 ON SH21A	NAGAUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
593	VILLAGE JAWA JISODIA TEHSIL DEGANA ON SH-59	NAGAUR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
594	BETWEEN KM STONE 40 AND 43 ON SH8A (GATWA TO SIKAR ROAD)	NAGAUR	Regular	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
595	MERTA BYE PASS ON NH-458	NAGAUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
596	WITHIN 3 KM FORM KAWAD CIRCLE ON MANDIA BYEPASS ROAD, PALI CITY (WITHIN MUNICIPAL LIMITS)	PALI	Regular	240	OPEN	СС	20	20	400	32	12	Bidding	30	5
597	JAITARAN CITY, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	PALI	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5
598	SUMERPUR WITHIN MUNICIPAL LIMITS, (NOT ON NH/ SH/ PWD ROAD)	PALI	Regular	140	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
599	BETWEEN PANIHARI CIRCLE AND RELIANCE SMART, SUMERPUR ROAD, PALI CITY (WITHIN MUNICIPAL LIMITS)	PALI	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
600	BETWEEN RELIANCE SMART AND MASTAN BABA DARGAH, SUMERPUR ROAD, PALI CITY (WITHIN MUNICIPAL LIMITS)	PALI	Regular	240	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
601	BETWEEN VILLAGE RAS AND VILLAGE BABRA ON NH 158, TEHSIL JAITARAN DISTRICT PALI	PALI	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
602	BETWEEN VILLAGE LAMBIYA AND RABRIYAWAS ON NH 158 ,TEHSIL JAITARAN, DISTRICT PALI	PALI	Regular	300	OPEN	CC	35	35	1225	32	12	Bidding	30	5
603	BETWEEN VILLAGE SODAWAS AND VILLAGE TEWALIKHURD ON NH 162-EXTENSION (OLD NO SH-67),	PALI	Regular	210	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
604	BETWEEN KM STONE 583 & KM STONE 588 R.H.S ON NH 62 MOVING FROM ROHAT TO PALI	PALI	Regular	250	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
605	BETWEEN KM STONE NO 630 AND 645 ON NH 62 EITHER SIDE, PALI - PINDWARA ROAD	PALI	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
606	BETWEEN KM STONE 590 & KM STONE 600 ON NH-62 EITHER SIDE ROHAT - PALI ROAD	PALI	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
607	ON NH62 EITHER SIDE BETWEEN KM STONE 565 TO KM STONE 570 JODHPUR - PALI ROAD	PALI	Regular	250	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
608	ON SH 16 BETWEEN KM STONE NO 21 TO KM STONE NO 25, TEHSIL BALI, DISTRICT PALI	PALI	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
609	ON SH 62 BETWEEN KM STONE NO 173 TO KM STONE NO 178,TEHSIL BALI, DISTRICT PALI	PALI	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
610	ON SH 16 BETWEEN KM STONE NO 5 TO KM STONE NO 11, TEHSIL BALI, DISTRICT PALI	PALI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
611	ON SH 58 BETWEEN KM STONE NO 71 TO KM STONE NO 75, TEHSIL SOJAT, DIST PALI	PALI	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
612	ON SH 132 AT VILLAGE SADAWAS PALI-BHILWARA ROAD, TEHSIL PALI, DISTRICT PALI	PALI	Regular	105	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
613	ON SH 62 BETWEEN KM STONE 161 & KM STONE 165, TEHSIL BALI DISTRICT PALI	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
614	ON SH 58, VILLAGE SISARWADA,TEHSIL SOJAT, DISTRICT PALI	PALI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
615	ON SH 62 VILLAGE GANTHI, TEHSIL DESURI, DISTRICT PALI	PALI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
616	ON SH16 VILLAGE MUNDARA, TEHSIL BALI, DISTRICT PALI	PALI	Regular	145	OPEN	СС	35	35	1225	32	12	Bidding	30	5
617	ON SH 64 BETWEEN KM STONE 5 TO KM STONE 20 , DISTRICT PALI	PALI	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
618	BETWEEN KM STONE 195 AND 200 ON SH 61 JAADAN TO MARWAR JUNCTION ROAD	PALI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
619	BETWEEN KM STONE 171 AND 185 ON SH 61 (SARDAR SAMAND TO JAADAN ROAD) BETWEEN KM STONE NO 280 AND KM STONE NO 284 ON NH-25, R.H.S MOVING FROM	PALI	Regular	120	OPEN	СС	35	35	1225	32	12	Bidding	30	5
620	BERT TO JODHPUR BETWEEN KM STONE NO 300 AND KM STONE NO 313 EITHER SIDE ON NH-25,BAR -	PALI	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
621	JODHPUR ROAD	PALI	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
622	BETWEEN KM STONE NO 292 AND KM STONE NO 297, EITHER SIDE ON NH-25 BAR - JODHPUR ROAD	PALI	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
623	BETWEEN KM STONE NO 189 TO KM STONE NO 179 ON NH 458 (JAITARAN-LAMBIYA ROAD)	PALI	Regular	300	OPEN	СС	35	35	1225	32	12	Bidding	30	5
624	BETWEEN KM STONE NO 39 AND KM STONE NO 49 EITHER SIDE ON NH 162 (PALI- BAR ROAD).	PALI	Regular	240	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
625	BETWEEN KM STONE NO.70 AND KM STONE NO 66 LHS ON NH-162 FROM BAR TO PALI ROAD	PALI	Regular	170	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
626	ON NH 56 (OLD NH 113), FROM DR. AMBEDKAR CIRCLE PRATAPGARH TO AMBA MATA MANDIR	PRATAPGARH	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
627	BETWEEN KM STONE 96 TO 98, LHS PRATAPGARH TO PEEPALKHUT ON NH 56 (NH 113)	PRATAPGARH	Regular	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
628	ON SH 15, FROM VILLAGE ACHARI TO VILLAGE JAMLAWADA (CHHOTI SADRI- NEEMUCH ROAD)	PRATAPGARH	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
629	ON SH 81A, FROM BANK OF BARODA DHARIYAWAD TO VILLAGE BHATWARA (DHARIYAWAD-UDAIPUR ROAD)	PRATAPGARH	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
630	VILLAGE JALODA JAGEER ON SH 15 (BADI SADRI TO CHHOTI SADRI ROAD)	PRATAPGARH	Regular	155	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
631	VILLAGE CHUPNA TO VILLAGE MOHEDA ON (PRATAPGARH-RATLAM ROAD) SH 81B	PRATAPGARH	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
632	ON SH 81B, LHS FROM RAJEEV GANDHI SMARAK PRATAPGARH TO VILLAGE KHEROT	PRATAPGARH	Regular	140	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
633	BETWEEN KM STONE 104 TO 107 , FROM PRATAPGARH TO MANDSAUR ON SH 81A	PRATAPGARH	Regular	135	OPEN	СС	35	35	1225	32	12	Bidding	30	5
634	NATHDAWARA CITY, FROM MAHARANAPRATAP CIRCLE TO LALBAGH ON GAURAV PATH ROAD RHS	RAJSAMAND	Regular	160	OPEN	СС	20	20	400	32	12	Bidding	30	5
635	KANKROLI CITY WITHIN MUNICIPAL LIMIT, FROM JK CIRCLE TO JK FACTORY MAIN GATE	RAJSAMAND	Regular	230	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
636	JK CIRCLE TO TVS CHAURAHA ON 50FT ROAD , KANKROLI CITY WML	RAJSAMAND	Regular	170	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
637	BETWEEN KM STONE 16 TO 18 ON NH 162E, KELWARA RICHHED ROAD	RAJSAMAND	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
638	BETWEEN VILLAGE PARASLI TO VILLAGE DHANEEN RHS ON NH 58 (OLD NH-08) UDAIPUR TO AIMER ROAD	RAJSAMAND	Regular	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
639	KANKROLI CITY, BETWEEN HOTEL UDAI PALACE RAJNAGAR TO BAJRANG CHAURAHA LHS ON NH -58 AJMER-UDAIPUR	RAJSAMAND	Regular	200	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
640	WITHIN 4 KM FROM KAMLIGHAT CHORAHA TO TOWARDS BHIM LHS ON NH 58 (OLD NH 8) UDAIPUR TO AIMER ROAD	RAJSAMAND	Regular	220	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
641	BETWEEN VILLAGE BADARDA TO PIPARDA BUS STAND RHS ON NH 58 (OLD NH 08) UDAIPUR TO AIMER ROAD	RAJSAMAND	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
642	BETWEEN VILLAGE KELWA TO MANDAWARA TOLL PLAZA LHS ON NH 58 (OLD NH 08) UDAIPUR TO AJMER ROAD	RAJSAMAND	Regular	260	OPEN PH	СС	35	35	1225	32	12	Bidding	30	5
643	BETWEEN ASIND-MOD TO VARAJI PARMARTH SANSTHAN NANDAWAT BHIM LHS ON NH58(OLD NH8)UDAIPUR TO AIMER	RAJSAMAND	Regular	250	OBC	СС	35	35	1225	32	12	Bidding	30	4
644	BETWEEN VILLAGE SIYOL TO VILLAGE NEGDIYA LHS ON NH-58 (OLD NH-08) UDAIPUR TO AJMER ROAD	RAJSAMAND	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category 6	Type of Site*		imensions (Ir			arranged by the	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1		3		MS+HSD in Kls	SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC,	CC/DC/CFS		Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
645	WITHIN 4 KM FROM KAMLIGHAT CHORAHA TO TOWARDS BHIM RHS ON NH 58 (OLD NH 8) UDAIPUR TO AIMER ROAD	RAJSAMAND	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
646	BETWEEN KM STONE 38 TO 42 ON NH 162A FATEHNAGAR-RAILMAGRA-KHANDEL ROAD	RAJSAMAND	Regular	210	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
647	IN BETWEEN KM STONE NO 13 TO 15 ON MAVLI NATHDWARA ROAD SH-49	RAJSAMAND	Regular	190	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
648	IN BETWEEN KM STONE NO 26 TO 30 ON SH-56, AMET DEOGARH ROAD IN BETWEEN KM STONE NO 10 TO 13 ON SH-56 VILLAGE DULIYANA MAHASATIYON KI	RAJSAMAND	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
649	MADRI TO AMET ROAD WITHIN 2 KM FROM MADARIYA TEJAJI CHOURAHA TO KARERA ON SH-61 DEOGARH BHILWARA ROAD	RAJSAMAND RAJSAMAND	Regular Regular	170 190	SC	CFS DC	35 35	35 35	1225 1225	32	75	Draw of Lots Draw of Lots	15	3 4
651	WITH IN 4.0 KM FROM DEOGARH BUS DEPOT TO KAMLIGHAT-CHAURAHA ON SH-61	RAJSAMAND	Regular	270	OPEN	СС	30	30	900	32	12	Bidding	30	5
652	IN BETWEEN KM STONE NO 31 TO 34 RHS ON NH 758 KANKROLI TO BHILWARA ROAD	RAJSAMAND	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
653	IN BETWEEN KM STONE NO 3 TO 6 RHS ON NH 148D SAMBURIYA TO SOPURA ROAD BETWEEN VILLAGE AMRATIYA TO VILLAGE TADAWARA SOLANKIYAN ON NH-58 (OLD NH-	RAJSAMAND	Regular	170	OBC	СС	35	35	1225	32	12	Bidding	30	4
654	08) UDAIPUR AJMER ROAD	RAJSAMAND SAWAI	Regular	220	OPEN	СС	35	35	1225	32	12	Bidding	30	5
655	SAWAIMADHOPUR WITHIN MUNCIPAL LIMIT	MADHOPUR SAWAI	Regular	175	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
656	BETWEEN VILLAGE WAZIRPUR AND MERI ON SH1 , TEHSIL WAZIRPUR	MADHOPUR SAWAI	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
657	FROM KM STONE NO. 37 TO 42 ON SH-1 (KOTA-LALSOT MEGAHIGHWAY)	MADHOPUR SAWAI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
658	FROM KM STONE NO. 32 TO 35 ON SH1 (GANGAPURCITY - BATODA ROAD) BETWEEN VILLAGE SARSOP AND BAGINA ON SH122, TEHSIL CHAUTH KA BARWADA	MADHOPUR SAWAI MADHOPUR	Regular Regular	100	OPEN CC 2	DC DC	35 35	35 35	1225 1225	32	75 75	Draw of Lots Draw of Lots	15 15	5
660	FROM KM STONE NO. 56 TO 62 ON SH1(KOTA-LALSOT MEGAHIGHWAY)	SAWAI MADHOPUR	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
661	FROM KM STONE NO. 70 TO 75 ON NH552 (SAWAIMADHOPUR -TONK ROAD)	SAWAI MADHOPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
662	FROM UDAI CHAURAHA TO DIBSYA TIRAHA ON GANGAPUR BYPASS ROAD, GANGAPURCITY	SAWAI MADHOPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
663	LAXMANGARH WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY ROAD	SIKAR	Regular	206	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
664	SIKAR CITY, WITHIN MUNICIPAL LIMITS ON DHOD ROAD	SIKAR	Regular	233	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
665	KHANDELA CITY, WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY ROAD SHRI MADHOPUR WITHIN MUNICIPAL LIMITS NOT ON STATE HIGHWAY AND NATIONAL	SIKAR	Regular	121	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
666	HIGHWAY ROAD	SIKAR	Regular	233	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
667	SIKAR CITY, WITHIN MUNICIPAL LIMITS ON FATEHPUR ROAD	SIKAR	Regular	173	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
Sl. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
668	LAXMANGARH CITY,BETWEEN BADH KA BALAJI AND AGARAWAL DAAL MILL ON LAXMANGARH SIKAR LINK ROAD	SIKAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
669	SIKAR CITY, BETWEEN SIKAR ANAJ MANDI AND KHEECHADON KA BAS MOD ON JAIPUR ROAD	SIKAR	Regular	233	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
670	BETWEEN KM STONE 307 TO 310 ON NH52 LHS WHILE MOVING FROM RINGUS TO SIKAR	SIKAR	Regular	169	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KISHAN CIRCLE TO SANWALI BYPASS CIRCLE ON NH52 LHS WHILE MOVING													
671	TOWARDS BIKANER	SIKAR	Regular	157	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
672	WITHIN 12KM FROM SANWALI BYPASS CIRCLE TOWARDS BIKANER ON NH52 BETWEEN KISHAN CIRCLE TO SANWALI BYPASS CIRCLE ON NH52 RHS WHILE MOVING	SIKAR	Regular	171	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
673	TOWARDS BIKANER	SIKAR	Regular	168	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
674	BETWEEN KM STONE 388 TO 396 ON NH 52	SIKAR	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
675	BETWEEN KM STONE 374 AND 376 ON NH52	SIKAR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
676	BETWEEN KM STONE 309 AND 311 ON NH52	SIKAR	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
677	VILLAGE DANTA TEHSIL DANTARAMGARH ON SH8A	SIKAR	Regular	114	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
678	BETWEEN VILLAGE KHATUSHYAMJI AND MANDHA MOD ON SH 112	SIKAR	Regular	121	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
679	BETWEEN KM STONE 186-190 ON SH82	SIKAR	Regular	114	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
680	SHRI MADHOPUR WML ON SH 37	SIKAR	Regular	164	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
681	VILLAGE DHOD TEHSIL DHOD ON SH07	SIKAR	Regular	109	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
682	KHANDELA WML ON SH 37	SIKAR	Regular	128	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
683	BETWEEN GOKULPURA TIRAHA TO PIPRALI CIRCLE SIKAR WML	SIKAR	Regular	223	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
684	VILLAGE DOKAN ON SH 37B	SIKAR	Regular	114	OBC	СС	35	35	1225	32	12	Bidding	30	4
685	BETWEEN KM STONE 54 AND 60 ON SH37B	SIKAR	Regular	118	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
686	BETWEEN KM STONE 80 AND 86 ON SH 113	SIKAR	Regular	116	OPEN	сс	35	35	1225	32	12	Bidding	30	5
687	VILLAGE SULIYAWAS ON SH8A	SIKAR	Regular	112	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
688	VILLAGE SINGODARA TEHSIL LAXMANGARH ON SH82	SIKAR	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
689	BETWEEN DADIYA AND BERI ON SH-8	SIKAR	Regular	114	OBC	сс	35	35	1225	32	12	Bidding	30	4
690	WITHIN 6 KM OF PIPRALI CIRCLE ON SH 37B TOWARDS PIPRALI	SIKAR	Regular	131	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTN	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	ı				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In site (in sq.mt			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC, PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
691	BETWEEN AJITGARH AND THOI ON SH 13	SIKAR	Regular	120	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
692	BETWEEN SANWALI BYPASS CIRCLE AND RANI SATI MOD SIKAR WML	SIKAR	Regular	217	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
693	WITHIN 5 KM FROM FATEHPUR JUNCTION TOWARDS BIKANER ON NH 11	SIKAR	Regular	151	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
694	PINDWARA WITHIN CITY LIMITS NOT ON NH AND SH	SIROHI	Regular	120	OPEN CC 2	DC	30	30	900	32	55	Draw of Lots	15	5
695	BETWEEN KM STONE NO. 648 TO 653 LHS WHILE MOVING FROM PALANPUR TO PINDWARA ON NH27	SIROHI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
696	BETWEEN KM STONE NO 699 TO 694 EITHER SIDE WHILE MOVING FROM UDAIPUR TOWARDS PINDWARA ON NH27	SIROHI	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
697	BETWEEN KM STONE NO. 655 TO 665 LHS WHILE MOVING FROM PALANPUR TO PINDWARA ON NH27	SIROHI	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
698	BETWEEN VILLAGE KOLAR TO VILLAGE POSALIYA LHS ON NH62 WHILE MOVING FROM SIROHI TO SUMERPUR	SIROHI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
699	WITHIN 5KM FROM ANADRA CHAURAHA ON NH168 WHILE MOVING FROM ANADRA CHAURAHA TO MANDAR	SIROHI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
700	WITHIN 3 KMS OF GOYALI TIRAHA ON SH-38(SIROHI-RAMSEEN ROAD)	SIROHI	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
701	WITHIN 3KM OF GOVERNMENT SCHOOL KALANDRI ON SH-38	SIROHI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
702	WITHIN 4KM OF KAROTI TIRAHA TOWARDS ABU ROAD ON SH11	SIROHI	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
703	WITHIN 2KM OF MANPUR TIRAHA, ABU ROAD ON SH11	SIROHI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
704	SURATGARH, WITHIN MUNICIPAL LIMITS SURATGARH (NOT ON NH/SH)	SRI GANGANAGA	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
705	PADAMPUR, WITHIN MUNICIPAL LIMITS (NOT ON SH/NH/PWD ROAD)	SRI GANGANAGA	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
706	ANUPGARH, WITHIN MUNICIPAL LIMITS (NOT ON SH/NH/PWD ROAD)	SRI GANGANAGA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
707	VIJAYNAGAR, WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	SRI GANGANAGA	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
708	GHARSANA TO PATRORA ON NH911	SRI GANGANAGA	Regular	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
709	IN BETWEEN KM STONE 145 TO 155 KM ON NH-62	SRI GANGANAGA	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
710	BETWEEN VILLAGE 4SJM AND VILLAGE CHAK 5 PSD ON SH94(KHAJUWALA TO GHARSANA ROAD)	SRI GANGANAGA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
711	FROM IMPERIAL SCHOOL TO LALGARH JATTAN ON HANUMANGARH ROAD ON SH-36	SRI GANGANAGA	Regular	100	OPEN	СС	35	35	1225	32	12	Bidding	30	5
712	IN DEOLI WITHIN MUNICIPAL LIMIT (NOT ON NH & SH)	TONK	Regular	125	OPEN CC 2	СС	30	30	900	32	12	Bidding	30	5
713	IN TONK WITHIN MUNICIPAL LIMIT (NOT ON SH/NH)- 2	TONK	Regular	135	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
714	IN TONK WITHIN MUNICIPAL LIMIT (NOT ON SH/NH)- 1	TONK	Regular	135	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
715	IN NEWAI WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)-1	TONK	Regular	135	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
716	IN NEWAI WITHIN MUNICIPAL LIMIT (NOT ON NH/SH) - 2	TONK	Regular	135	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
717	FROM NEWAI TO GUNSI ON NH-52 LHS TOWARDS JAIPUR	TONK	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
718	FROM DOLTA TO SANTHALI ON NH 52 LHS TOWARDS JAIPUR	TONK	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
719	FROM VILLAGE BHARNI TO VILLAGE USMANPURA ON LHS TOWARDS JAIPUR ON NH 52	TONK	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
720	FROM TONK TO CHHAN ON LHS TOWARDS KOTA ON NH 52	TONK	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
721	FROM KOTHUN TO NEWAI ON LHS TOWARDS KOTA ON NH 52	TONK	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
722	FROM KHAREDA TO BASERDA ON SH37A	TONK	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
723	FROM DOONI TO GURAI (ON DOONI-NAGARFORT ROAD) ON SH 34A	TONK	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
724	FROM MALPURA TO SINDOLIYA ON SH 101	TONK	Regular	145	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
725	FROM TODARAISINGH TO GANETA ON SH37A	TONK	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
726	FROM HAMEERPUR TO JHIRANA ON SH116	TONK	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
727	FROM MALPURA TO MOR ON SH 37A	TONK	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
728	FROM MALPURA TO PACHEWAR ON SH 37A	TONK	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
729	FROM MALPURA TO UNIARA KHURD ON SH 12	TONK	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
730	FROM JEEWALI TO JAMDOLI ON SH 117	TONK	Regular	105	OBC	СС	35	35	1225	32	12	Bidding	30	4
731	FROM SOHELA TO MASOODAPURA ON SH 117	TONK	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
732	FROM RATWAI TO LAMBA KALAN ON SH 116	TONK	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
733	FROM TONK CITY TO KHELNIYA ON RHS TOWARDS SAWAI MADHOPUR ON NH 552	TONK	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
734	FROM TONK CITY TO VILLAGE RAHMANDIYA ON LHS TOWARDS SAWAIMADHIPUR ON NH 552	TONK	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
735	FROM KOTHUN TO JAGSARA ON NH 23	TONK	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
736	FROM SUKHER CHAURAHA TO MAHARANA PARTAP KHEL GAON VIA BHAIRAVGARH PALACE, EITHER SIDE	UDAIPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	ı				
Sl. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
737	UDAIPUR CITY, FROM PRATAPNAGAR CHAURAHA TO THOKAR CHAURAHA (EITHER SIDE)	UDAIPUR	Regular	160	OPEN	сс	20	20	400	32	12	Bidding	30	5
738	FROM SUKHADIA CIRCLE TO SYPHON CHAURAHA EITHER SIDE, UDAIPUR CITY	UDAIPUR	Regular	170	OPEN	СС	20	20	400	32	12	Bidding	30	5
739	UDAIPUR CITY WITHIN URBAN LIMITS (BETWEEN SAVINA RAILWAY CROSSING AND TITARDI)	UDAIPUR	Regular	170	OPEN	СС	20	20	400	32	12	Bidding	30	5
	UDAIPUR CITY WITHIN MUNICIPAL LIMITS (HIRAN MAGRI SEC-3 TO UDIAPOLE CHAURAHA													
740	ON 100 FT ROAD) UDAIPUR CITY, FROM UDAIPOLE CHAURAHA TO BALICHA CHAURAHA, EITHER SIDE (NOT	UDAIPUR	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
741	ON NH)	UDAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
742	UDAIPUR CITY WITHIN URBAN LIMITS (FROM SYPHON CHAURAHA TO BEDLA)	UDAIPUR	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
743	UDAIPUR CITY (WITHIN MUNICIPAL LIMITS), ON ANY ROAD WITH WIDTH 100FT OR ABOVE	UDAIPUR	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
744	UDAIPUR CITY, FROM BHUWANA CIRCLE TO MEWAR HOSPITAL ON 100 FT ROAD (WITHIN MUNICIPAL LIMITS)	UDAIPUR	Regular	170	OPEN	сс	20	20	400	32	12	Bidding	30	5
745	WITHIN 2.5 KM'S FROM R K CIRCLE, IN ANY DIRECTION ON MAIN ROAD, UDAIPUR CITY	UDAIPUR	Regular	190	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
746	UDAIPUR CITY, FROM MOHANLAL SUKHADIA UNIVERSITY MAIN GATE TO INOX LAKE CITY MALL (EITHER SIDE)	UDAIPUR	Regular	160	OPEN	сс	20	20	400	32	12	Bidding	30	5
747	UDAIPUR CITY, FROM MINING DEPARTMENT OFFICE AT HIRAN MAGRI TO JUSTA RAJPUTANA RESORT (EITHER SIDE)	UDAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
748	UDAIPUR CITY WITHIN MUNICIPAL LIMITS, FROM SYPHON CHAURAHA TO KAVITA BYPASS	UDAIPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
749	SALUMBER WITHIN MUNICIPAL LIMITS, NOT ON SH	UDAIPUR	Regular	140	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
750	WITHIN 2.5 KMS FROM GOGUNDA PALACE AT GOGUNDA TOWN ON ANY ROAD, NOT ON NH	UDAIPUR	Regular	105	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
751	BETWEEN KM STONE 19 & 23 EITHER SIDE ON NH 162 E(VALLABHNAGAR TO MAVLI ROAD)	UDAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
752	BETWEEN KM STONE 790 TO 795, LHS MOVING FROM PINDWARA TO UDAIPUR ON NH 27	UDAIPUR	Regular	190	OBC CC 1	сс	35	35	1225	32	12	Bidding	30	4
753	BETWEEN KM STONE 774 & 756 EITHER SIDE ON NH 27 (WHILE MOVING FROM UDAIPUR TO PINDWARA)	UDAIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
754	BETWEEN KM STONE 774 & 788 EITHER SIDE ON NH 27 (WHILE MOVING FROM PINDWARA TO UDAIPUR)	UDAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
755	BETWEEN KM STONE 292 & 297 LHS ON NH 48 (WHILE MOVING FROM CHITTORGARH TO UDAIPUR)	UDAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
756	LHS BETWEEN KM STONE 385 TO 390 ON NH 48 (WHILE MOVING FROM UDAIPUR TO KHWERWARA)	UDAIPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
757	LHS WHILE MOVING FROM DEBARI CHAURAHA AT DEBARI FLYOVER TO DABOK ON NH 48	UDAIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
758	LHS ON NEW UDAIPUR BYPASS (CONNECTING ROAD BETWEEN DEBARI TO KAYA)	UDAIPUR	Regular	170	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
759	RHS ON NEW UDAIPUR BYPASS (CONNECTING ROAD BETWEEN DEBARI TO KAYA)	UDAIPUR	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	ı				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
760	LHS FROM AARAM BAAGH BY PACHAR GROUP TO PARSAD ON NH 48 (WHILE MOVING FROM UDAIPUR TO KHWERWARA)	UDAIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
761	VILLAGE UNDARI KHURD ON NH 58E (UDAIPUR TO JHADOL)	UDAIPUR	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
762	LHS WHILE MOVING FROM DHABALOGY RESTAURANT TO SUKHER CHAURAHA ON NH 58 (OUTSIDE MUNICIPAL LIMITS)	UDAIPUR	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
763	RHS WHILE MOVING FROM DHABALOGY RESTAURANT TO AMBERI CHAURAHA ON NH 58	UDAIPUR	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
764	LHS WHILE MOVING FROM FATEHNAGAR TO MAVLI ON NH 162A	UDAIPUR	Regular	150	OPEN CC 2	СС	35	35	1225	32	12	Bidding	30	5
765	BETWEEN KM STONE 5 & 10 LHS ON SH 9 (WHILE MOVING FROM DABOK TO MAVLI)	UDAIPUR	Regular	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
766	BETWEEN KM STONE 112 TO 116 ON SH 32, WHILE MOVING FROM UDAIPUR TO SALUMBER	UDAIPUR	Regular	115	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
767	WHILE MOVING FROM VIDHYA BHAWAN SR. SEC. SCHOOL BADGAON TO KAVITA BYEPASS ON SH32	UDAIPUR	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
768	FROM JAISAMAND BUS STOP TO MALGUDI JUNCTION RESTAURANT EITHER SIDE ON SH 32	UDAIPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
769	FROM KIR KI CHOKI TO BHINDER ON SH 53, EITHER SIDE	UDAIPUR	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
770	BETWEEN KM STONE 4 & 19 RHS ON SH 9 (WHILE MOVING FROM MAVLI TO DABOK)	UDAIPUR	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
771	VILLAGE KHARWA ON KHARWA MASUDA ROAD	AJMER	Rural	165	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
772	VILL KALERA KRISHNA GOPAL TO VILL BOGLA ON KEKRI DEOLI ROAD	AJMER	Rural	85	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
773	VILLAGE NANDSI, TEHSIL BHINAI	AJMER	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
774	VILLAGE DHAL, TEHSIL NASIRABAD ON NASIRABAD KANPURA ROAD	AJMER	Rural	115	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
775	VILLAGE KARKERI, TEHSIL ROOPANGARH ON AMARPURA PEEPLAD ROAD	AJMER	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
776	VILLAGE JALIYA ON MDR 9, TEHSIL SARWAR	AJMER	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
777	VILLAGE KAYAD, NOT ON NH/SH, TEHSIL AJMER WITHIN 1.5 KM FROM JUNCTION OF SARKANPUR ROAD ON LHS TOWARDS KOTKASIM ON	AJMER	Rural	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
778	THARA KOTKASIM ROAD BETWEEN KM STONE 16 TO 18 ON RHS WHILE MOVING FROM KHAIRTHAL TO TATARPUR	ALWAR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
779	BETWEEN KM STONE 16 TO 18 ON RHS WHILE MOVING FROM KHAIKTHAL TO TATARPUR CHOURAHA	ALWAR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
780	BETWEEN GYANPURA TIRAHA TO VILLAGE KARANA ON MDR ROAD ON KESROLI ROAD WITHIN 1 KM FROM INTERSECTION OF NH248A TOWARDS KESROLI	ALWAR	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
781	ON RESPOUL ROAD WITHIN 1 KM FROM INTERSECTION OF NH248A TOWARDS RESPOUL FORT LEFT HAND SIDE	ALWAR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
782	RENI TO KEELPUR KHERA ROAD BEFORE MILITARY AREA	ALWAR	Rural	60	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEALE	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	7 CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
783	IN BETWEEN VILLAGE GANODA TO VILLAGE MOTAGAON ON MOTAGAON ROAD	BANSWARA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
784	VILLAGE GOPINATH KA GARA ON GOPINATH KA GARA ROAD	BANSWARA	Rural	140	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
785	VILLAGE OJHARIYA ON OJHARIYA BYPASS ROAD	BANSWARA	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
786	FROM VILLAGE HARNAWADA SHAJI TEHSIL CHHIPABAROD TOWARDS MANOHAR THANA WITHIN BARAN DISTRICT	BARAN	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
787	VILLAGE RELAWAN TEHSIL KISHANGANJ	BARAN	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
788	VILLAGE JAITPURA ON MDR 47 TEHSIL KISHANGANJ	BARAN	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
789	VILLAGE KASBA THANA (NOT ON NH) TEHSIL SHAHBAD	BARAN	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
790	VILLAGE AMLIYALA ,TEHSIL GUDAMALANI	BARMER	Rural	130	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
791	VILLAGE RATKURIYA , TEHSIL SHIV	BARMER	Rural	135	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
792	BETWEEN CHITAR KA PAAR TO KAWAS ON KAWAS BHIMDA ROAD	BARMER	Rural	125	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
793	VILLAGE RANASAR KHURD, TEHSIL GUDAMALNI	BARMER	Rural	115	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
794	VILLAGE AASARI, TEHSIL GADRA ROAD	BARMER	Rural	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
795	VILLAGE MARUDI, TEHSIL BARMER	BARMER	Rural	120	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
796	BETWEEN KESARGANJ CHAURAHA TO MALIPURA CHAURAHA, TEHSIL BIJOLIYA NOT ON NH	BHILWARA	Rural	120	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
797	BETWEEN VILLAGE KOTHAJ TO VILLAGE PAROLI ON JAHAZPUR ROAD TEHSIL KOTRI	BHILWARA	Rural	130	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
798	VILLAGE ROPAN, TEHSIL JAHAZPUR ON MDR 56	BHILWARA	Rural	85	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
799	VILLAGE SODAR, TEHSIL HURDA	BHILWARA	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
800	VILLAGE IRAS, TEHSIL ASIND ON RAILA KALIAYAS ROAD	BHILWARA	Rural	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
801	VILLAGE SANGARIYA, TEHSIL PHOOLIYA KALAN ON SANGARIYA DHANOP ROAD	BHILWARA	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
802	VILLAGE KOTRI, TEHSIL KOTRI ON MDR 56	BHILWARA	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
803	BETWEEN KM STONE 115 TO 120 ON MDR 202, LHS FROM SHANI MAHRAJ TO BHADSORA.	CHITTORGAR H	Rural	100	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
804	BETWEEN VILLAGE DUNGLA TO VILLAGE KARSANA ON DUNGLA-BOHERA ROAD	CHITTORGAR H	Rural	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
805	VILLAGE WANI, LHS FROM NIMBAHERA TO MANGALWAD ROAD	CHITTORGAR H	Rural	160	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED	ı				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
806	BETWEEN VILLAGE BANSI TO VILLAGE MAHUDA ON BHINDER ROAD	CHITTORGAR H	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
807	VILLAGE AKOLA ON AKOLA TO BHUPALSAGAR ROAD	CHITTORGAR H	Rural	105	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
808	WITHIN 5 KM FROM BASSI BUS STAND ON BASSI TO BIJAIPUR ROAD.	CHITTORGAR H	Rural	120	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
809	VILLAGE NANDWAI TEHSIL BEGUN ON BEGUN ROAD	CHITTORGAR H	Rural	110	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
810	BETWEEN VILLAGE DHANORA TO VILLAGE LASRAWAN	CHITTORGAR H	Rural	125	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
811	VILLAGE BANGERA GHATA TEHSIL NIMBAHERA ON NIMBAHERA-AAMA ROAD	CHITTORGAR H	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
812	VILLAGE THANA ON BICHIWARA - DUNGARPUR ROAD	DUNGARPUR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
813	VILLAGE ASPUR ON ASPUR - FALOJ ROAD WITHIN 1 KM OF PRITHVI RAJ CIRCLE	DUNGARPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
814	VILLAGE 19 FTP, TEHSIL HANUMANGARH	HANUMANG ARH	Rural	45	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
815	WITHIN 2 KM FROM SH 55 TO NAYLA, ON NAYLA ROAD, TEHSIL: JAMWA RAMGARH	JAIPUR	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
816	WITHIN 2 KMS FROM RAMKUI BUS STAND TO AIDAN KA BAS, AT VILLAGE PACHAR, WITHIN JAIPUR DISTRICT	JAIPUR	Rural	95	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
817	VILLAGE - ROTWADA, ON BAGRU - PHAGI ROAD, FROM ROTWADA GAUSHALA TO RENWAL CROSSING CHORAHA	JAIPUR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
818	WTIHIN 3 KMS FROM HATHOJ BUS STAND TOWARDS SIRSI, ON SIRSI HATHOJ LINK ROAD	JAIPUR	Rural	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
819	VILLAGE KHARBUJI TEHSIL VIRATNAGAR ON MDR 175	JAIPUR	Rural	90	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
820	FROM INTERSECTION OF NH48 AND KHORA ROAD ON KHORA ROAD TILL CHHARSA CHAURAYA SURANA	JAIPUR	Rural	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
821	VILLAGE TORDA ON TASKOLA TO NARHEDA ROAD	JAIPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
822	AT VILLAGE BHOJYAWAS, ON BHANKROTA TO SIRSI ROAD	JAIPUR	Rural	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
823	FROM JHAG BUS STAND TO RAMPURA UNTI, ON BAGRU JHAG ROAD.	JAIPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
824	WITHIN 5 KMS FROM MUNDIA RAMSAR BUS STAND, GOING FROM MUNDIA RAMSAR BUS STAND TO BEGAS, ON MDR 81	JAIPUR	Rural	104	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
825	VILLAGE GOPIPUR TEHSIL VIRATNAGAR ON MDR 175 BETWEEN KM STONE NO. 1 TO 3	JAIPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
826	BETWEEN BOYTAWALA TO KHORABISAL, ON DAULATPURA ROAD	JAIPUR	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
827	VILLAGE MUKUNDPURA, ON RAMPURA RAITHAL ROAD, TEHSIL: AMER	JAIPUR	Rural	105	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
828	BETWEEN GOVT. HOSPITAL, NINDAR TO GANESH MANDIR, DAULATPURA, ON RIGHT HAND SIDE, ON JAIRAMPURA ROAD	JAIPUR	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In		Finance to be a	icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	6 SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
829	FROM SARNA TO SHUBHRAMPURA, VILLGE: KHORABISAL, TEHSIL - AMER	JAIPUR	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
830	FROM VERTICLE SPINE ROAD JUNCTION TO KALWARA ROAD, ON LHS, ON 250 FT SEZ ROAD	JAIPUR	Rural	170	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
831	WITHIN 2 KMS FROM HINGONIYA TO LALPURA ON LHS AT VILLAGE HINGONIYA	JAIPUR	Rural	85	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
832	WITHIN 1 KM FROM NAYLA MAIN CHOPAD, ON RHS, WHILE TRAVELLING ON NAYLA TO KANOTA ROAD	JAIPUR	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
833	VILLAGE PALRI MANGALIYA TO PALRI KHICHIYAN ON KALIBERI TO MANDALNATH CHAURAHA ROAD	JODHPUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
834	VILLAGE KALAU TO VILLAGE MURKASNI TEHSIL BILARA ON BILARA- KALAU- MURKASNI ROAD	JODHPUR	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
835	VILLAGE KANASAR, TEHSIL PHALODI ON BAAP ROAD	JODHPUR	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
836	VILLAGE ROHILLA KALAN ON JHAWAR ROAD, TEHSIL MANDOR	JODHPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
837	VILLAGE BEROO, ON JODHPUR BYPASS TO BEROO ROAD	JODHPUR	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
838	VILLAGE BEDOO, TEHSIL BAPINI.	JODHPUR	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
839	VILLAGE NADARI KALAN ON UCHIYARDA ROAD	JODHPUR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
840	VILLAGE SETRAWA TO VILLAGE KALAUPHATA ON SETRAWA-BARMER BRO ROAD VILLAGE KANTALIYA ON KANTALIYA TO SARANGWAS ROAD, TEHSIL MARWAR JUNCTION	JODHPUR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
841	DISTRICT PALI	PALI	Rural	90	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
842	BETWEEN VILLAGE BALARA AND TOONKRA ON BALARA- TOONKRA ROAD, TEHSIL JAITARAN DISTRICT PALI	PALI	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
843	VILLAGE NIMBOL ON NIMBOL -KHARADI ROAD TEHSIL JAITARAN, DISTRICT PALI	PALI	Rural	75	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
844	VILLAGE ASARLAI ON ASARLAI -BALARA ROAD, TEHSIL JAITARAN, DISTRICT PALI	PALI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
845	VILLAGE RANAWAS ON RANAWAS - DINGOR CHOURAHA ROAD,TEHSIL MARWAR JUNCTION, DISTRICT PALI	PALI	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
846	VILLAGE RANIKALAN ON KENPURA TO RANI ROAD, TEHSIL RANI, DISTRICT PALI	PALI	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
847	BETWEEN VILLAGE THARA TO VILLAGE BARDEEYA ON PRATAPGARH-NEEMUCH ROAD	PRATAPGARH	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
848	VILLAGE AMLAWADA ON PRATAPGARH- NEEMUCH ROAD	PRATAPGARH	Rural	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
849	VILLAGE RAIPUR, ON RAIPUR TO DALOT ROAD.	PRATAPGARH	Rural	120	OPEN	СС	35	35	1225	16	6	Bidding	10	4
850	VILLAGE MODWA TEHSIL NATHDWARA ON KOTHARIA ROAD	RAJSAMAND	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
851	VILLAGE DELWARA ON MAJERA DELWARA ROAD	RAJSAMAND	Rural	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	NOTICE FOR APPOINTM	ENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED)				
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (Ir			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
852	WITH IN 3 KM FROM KELWA CHAUPATI TO TOWARDS OMTHI ON OMTHI ROAD	RAJSAMAND	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
853	VILLAGE RAGHUNATHPURA TO VILLAGE SIYANA ON AMET ROAD	RAJSAMAND	Rural	180	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
854	WITH IN 3.0 KM FROM PASOOND CIRCLE TO TOWARDS TASOL ON TASOL ROAD	RAJSAMAND	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
855	VILLAGE PEEPLI ACHARYAN ON MOHI PIPLI ROAD	RAJSAMAND	Rural	140	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
856	VILLAGE LAHSORA ON MDR131, SAWAIMADHOPUR	SAWAI MADHOPUR	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
857	VILLAGE CHAKBILOLI , TEHSIL MALARNA DUNGAR	SAWAI MADHOPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
858	VILLAGE BORKHEDA ON MDR233, TEHSIL MITRAPURA	SAWAI MADHOPUR	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
859	VILLAGE ANTRI ON HARSH JEENMATA ROAD	SIKAR	Rural	76	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
860	VILLAGE RANIPURA TEHSIL RINGUS LHS MOVING TOWARDS SHRI MADHOPUR ON MALIKPUR SHRI MADHOPUR ROAD	SIKAR	Rural	79	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
861	WITHIN 5 KM OF KHANDELA PANCHAYAT SAMITI TOWARDS PALSANA ON MDR100	SIKAR	Rural	109	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
862	VILLAGE NAYABAS TEHSIL NEEM KA THANA ON MDR 160	SIKAR	Rural	69	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
863	VILLAGE MADNI TO VILLAGE NARADARA ON JAWAL TO HARZI ROAD	SIROHI	Rural	60	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
864	VILLAGE BHAVRI TO VILLAGE NITAURA ON SWAROOPGANJ NITAURA ROAD	SIROHI SRI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
865	FROM VILLAGE 2RM TO 10RD ON VIJAYNAGAR BIKANER ROAD	GANGANAGA	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
866	IN BETWEEN NH911 INTERSECTION TO BAJUWALA ON SAMLEMPUR-JAITSER ROAD	SRI GANGANAGA	Rural	40	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
867	IN SHOP, TEHSIL UNIARA (ON SHOP TO ALIGHAR MAIN ROAD)	TONK	Rural	75	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
868	IN VILLAGE JHUJHARPURA, TEHSIL- NEWAI (ON NEWAI-KHANDEWAT ROAD)	TONK	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
869	IN VILLAGE RAJWAS, TEHSIL- NEWAI	TONK	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
870	IN VILLAGE DATWAS, TEHSIL - NEWAI (NOT ON NH)	TONK	Rural	85	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
871	IN VILLAGE KURTHAL, TEHSIL-MALPURA	TONK	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
872	IN VILLAGE GALOD, TESHIL PEEPLU	TONK	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
873	WHILE MOVING FROM RAMPURA CHAURAHA TO UBESHWARJI FROM EKLINGPURA CHAURAHA TO JUNCTION OF RAMA PHOSPHATES LIMITED ROAD ON	UDAIPUR	Rural	30	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
874	MDR 11	UDAIPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

	NOTICE FOR APPOINTM	IENT OF REGUL	AR & RURAL DEAL	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	imensions (In site (in sq.mt			icant	Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	5 MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC, PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
875	BETWEEN RAVWALA AND BARSALPUR TEHSIL BAJJU DISTT. BIKANER	BIKANER	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
876	WITHIN 11KMS OF RD682 CIRCLE TOWARD BAJJU ON RD682 TO BAJJU BRO ROAD	BIKANER	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
877	BETWEEN RD1000 AND BIKAMPUR PHANTA ON BAJJU TO BIKAMPUR BRO ROAD	BIKANER	Rural	70	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
878	WITHIN 5 KM FROM JAWAHAR NAGAR BUS STAND IN TEHSIL JAISALMER	JAISALMER	Rural	150	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
879	VILLAGE RAMA, TEHSIL FATEHGARH	JAISALMER	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
880	VILLAGE KHURI, TEHSIL SAM	JAISALMER	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
881	VILLAGE NACHNA, TEHSIL POKHRAN.	JAISALMER	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
882	WITHIN 10 KM FROM MOHANGARH KRISHI MANDI ON SUTHARMANDI ROAD	JAISALMER	Rural	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
883	VILLAGE JASWANTPURA, TEHSIL POKARAN	JAISALMER	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
884	BETWEEN GOPALPURA AND RUPELI ON GOPALPURA TO BIDASAR ROAD	CHURU	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
885	FROM SUNEL TO TITRI ON SUNEL JHALARAPATAN ROAD	JHALAWAR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
886	VILLAGE CHANANA TEHSIL CHIRAWA ON CHANANA SULTANA ROAD	JHUNJHUNU	Rural	96	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
887	WITHIN 3 KM OF SULTANA PANCHAYAT OFFICE ON SULTANA CHANANA ROAD	JHUNJHUNU	Rural	94	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
888	BETWEEN RANASAR AND BAKRA ON JHUNJHUNU RANASAR ROAD	JHUNJHUNU	Rural	99	OPEN CC 2	СС	35	35	1225	16	6	Bidding	10	4
889	IN VILLAGE MATOONDA, TEHSIL-BUNDI (ON BUNDI CITY TO RAITHAL ROAD)	BUNDI	Rural	55	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
890	IN VILLAGE THANA, TEHSIL- HINDOLI	BUNDI	Rural	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
891	VILLAGE PAGARA, TEHSIL HINDOLI	BUNDI	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
892	VILLAGE NAGLA MAU ,TEHSIL BASERI .	DHOLPUR	Rural	35	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
893	VILLAGE HARISINGH KA PURA, TEHSIL SARMATHURA	DHOLPUR	Rural	38	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
894	VILLAGE DUBEPURA, TEHSIL SAIPAU	DHOLPUR	Rural	36	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
895	VILLAGE MALONI KHURD , TESHIL SAIPAU, DHOLPUR	DHOLPUR	Rural	42	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
896	VILLAGE ONDELA, TEHSIL DHOLPUR	DHOLPUR	Rural	73	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
897	VILLAGE JARGA ,TEHSIL BASERI	DHOLPUR	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	NOTICE FOR APPOINTS	IENT OF REGUL	AR & RURAL DEALE	RSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	the	mensions (Ir site (in sq.mt		a of Finance to be arranged by the applicant		Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4 Regular/Rural	MS+HSD in Kls	G SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	7 CC/DC/CFS	8 Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding	11	12
898	KOLARI VILLAGE , TEHSIL SEPAU	DHOLPUR	Rural	35	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
899	FROM VILLAGE BASAI NAWAB TO VILLAGE JAGEERPURA ON MANIA ROAD (MDR-292), TEHSIL SAIPAU.	DHOLPUR	Rural	38	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
900	VILLAGE KHERA,TEHSIL BARI	DHOLPUR	Rural	45	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
901	VILLAGE VIRONDHA ,TEHSIL MANIA	DHOLPUR	Rural	37	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
902	VILLAGE KHURRA ON MANDAWARI KHURRA ROAD , TEHSIL LALSOT	DAUSA	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
903	VILLAGE BANSI ,TEHSIL RUPBAS	BHARATPUR	Rural	72	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
904	VILLAGE PAREETA ,TEHSIL KARAULI	KARAULI	Rural	81	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
905	VILLAGE KASED, TEHSIL SAPOTRA	KARAULI	Rural	74	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
906	VILLAGE DAYALPURA, TEHSIL DIDWANA ON DIDIWANA TO SIKAR ROAD	NAGAUR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
907	VILLAGE FIROD, TEHSIL MUNDWA	NAGAUR	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
908	VILLAGE MUNDIYAR ON NAGAUR-SANKHWAS ROAD	NAGAUR	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
909	VILLAGE DHARNAWAS, TEHSIL KHINWSAR	NAGAUR	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
910	VILLAGE KURCHHI, TEHSIL KHINWSAR	NAGAUR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
911	VILLAGE BHADWASI, TEHSIL NAGAUR ON BHADWASI TO BARANI ROAD	NAGAUR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
912	VILLAGE DESHWAL, TEHSIL MERTA ON DESHWAL TO BUTATI ROAD	NAGAUR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

	NOTICE FOR APPOINTM	ENT OF REGU	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORAT	ION LIMITED					
SI No	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #	Category	Type of Site*	Minimum Dimensions (In M)/Area of the site (in sq.mts)*				nrranged by the		Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4	5	6	7	8	site (iii sq.iiii	.3)	9а	9b	10	11	12
			Regular/Rural	MS+HSD in Kls	SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area		Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding		

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details.

The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.jocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	СС	ОВС	5000		СС	ОВС	4000
Regular	СС	Open	10000	Rural ROs	СС	Open	8000
	DC	ОВС	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **15** years and renewable every **5** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any c

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

	NOTICE FOR APPOINTM	ENT OF REGU	AR & RURAL DEAL	ERSHIPS IN THE	STATE OF RAJAS	THAN-BHAR	AT PETROLEU	M CORPORATION	ON LIMITED					
Sl. No.	Name of Location	Revenue Districts	Type of RO	Estimated Monthly Sales Potentail #		Type of Site*		Minimum Dimensions (In M)/Area of the site (in sq.mts)*			arranged by the		Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular/Rural	MS+HSD in Kls	SC, SC CC 1, SC PH, ST, ST CC 1, ST PH, OBC, OBC CC 1, OBC PH, OPEN, OPEN CC 1, OPEN CC 2, OPEN PH	CC/DC/CFS	Frontage	Depth	Area	capital requirement	Estimated fund required for devlopment of infrasturcture at RO	Draw of lots/Bidding		

For any information with regard to the advertisement, candidates may contact the following address:-

Address	Territory	Districts Covered	Contact no
TERRITORY MANAGER (RETAIL),		Jaipur	9925245981/ 7720006898
JAIPUR RETAIL TERRITORY , BHARAT PETROLEUM CORPORATION LIMITED, SITAPURA INDUSTRIAL AREA, TONK ROAD,	Jaipur	Alwar	9646525624
JAIPUR, RAJASTHAN,PINCODE-302022	Jaipui	Sikar, Jhunjhunu	8006000852
Mobile No.:9216920628		Nagaur	9891357920
		Jodhpur	9888843366
TERRITORY MANAGER (RETAIL),		Pali	9919197891
JODHPUR RETAIL TERRITORY , BHARAT PETROLEUM CORPORATION LIMITED,		Barmer, Jaiselmer	9685222395
BPCL SALAVAS TOP, NEAR SALAVAS RAILWAY STATION, SALAVAS, JODHPUR, RAJASTHAN,PINCODE-342013	Jodhpur	Bikaner, Churu,	8219510885
Mobile No.:9116786700		Sri GangaNagar,Hanu mangarh	6005327210
TERRITORY MANAGER (RETAIL), KOTA RETAIL TERRITORY ,		Kota,Bundi,Tonk	7727836013
BHARAT PETROLEUM CORPORATION LIMITED,	K-t-	Jhalawar,Baran	6290804447
KOTA OIL INSTALLATION, VILLAGE BRIJESHPURA, TATHED, BARAN ROAD, NH – 27,KOTA , RAJASTHAN .PINCODE-325201 Mobile No.:6375714829	Kota	Bharatpur,Dholpur .Karauli. Dausa,Sawai	9068810678
		Madhopur Udaipur,	9549337123 8950564564
TERRITORY MANAGER (RETAIL), UDAIPUR RETAIL TERRITORY ,		Ajmer, bhilwara	9034527263
BHARAT PETROLEUM CORPORATION LIMITED, UDAISAGAR ROAD, NEAR RANA PRATAP NAGAR RLY. STN, UDAIPUR, RAJASTHAN,	Udaipur	Chittorgarh, Pratapgarh	9045407747
PINCODE-313001		Jalore,Sirohi	8877084918
Mobile No.:6377915488		Banswara,Dungar pur, Rajsamand	9588845424